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Chapter 12

The Design of the Tax System
Multiple Choice


1.
Today the typical American pays what percent of her income in taxes, including property taxes, personal income taxes, corporate income taxes, payroll taxes, and sales taxes?

a.
5 percent

b.
18 percent

c.
33 percent

d.
50 percent

ANS: C
PTS: 1
DIF: 1
REF: 12-0

TOP: Taxes
MSC: Applicative


2.
Which of the following statements is correct?

a.
Equity is more important than efficiency as a goal of the tax system.

b.
Efficiency is more important than equity as a goal of the tax system.

c.
Both equity and efficiency are important goals of the tax system.

d.
Neither equity nor efficiency is an important goal of the tax system.

ANS: C
PTS: 1
DIF: 1
REF: 12-0

TOP: Taxes
MSC: Interpretive


3.
Who observed that “in this world nothing is certain but death and taxes”?

a.
Mark Twain

b.
P.T. Barnum

c.
Ben Franklin

d.
Richard Nixon

ANS: C
PTS: 1
DIF: 1
REF: 12-0

TOP: Taxes
MSC: Applicative


4.
In 1789, the average American paid approximately what percent of his income in taxes?

a.
5

b.
15

c.
33

d.
50

ANS: A
PTS: 1
DIF: 1
REF: 12-0

TOP: Tax burden
MSC: Applicative


5.
The largest source of income for the federal government is

a.
individual income taxes.

b.
corporate taxes.

c.
tariffs.

d.
“sin” taxes on alcohol and cigarettes.

ANS: A
PTS: 1
DIF: 1
REF: 12-1

TOP: Taxes
MSC: Applicative


6.
The largest source of revenue for the federal government is the

a.
individual income tax.

b.
property tax.

c.
sales tax.

d.
corporate income tax.

ANS: A
PTS: 1
DIF: 1
REF: 12-1

TOP: Taxes
MSC: Applicative


7.
The U.S. federal government collects what percent of the taxes in the economy?

a.
10

b.
40

c.
50

d.
67

ANS: C
PTS: 1
DIF: 1
REF: 12-1

TOP: Taxes
MSC: Applicative


8.
In 2004, the average American paid approximately how much to the federal government in taxes?

a.
$1,900

b.
$4,500

c.
$6,400

d.
$9,000

ANS: C
PTS: 1
DIF: 1
REF: 12-1

TOP: Taxes
MSC: Applicative


9.
Approximately what percent of the federal government’s receipts come from individual income taxes?

a.
8

b.
15

c.
43

d.
67

ANS: C
PTS: 1
DIF: 1
REF: 12-1

TOP: Taxes
MSC: Applicative


10.
A person’s tax liability refers to

a.
the percentage of income that a person much pay in taxes.

b.
the amount of tax a person owes to the government.

c.
the amount of tax the government is required to refund each person.

d.
deductions that can be legally subtracted from a person’s income each year.

ANS: B
PTS: 1
DIF: 1
REF: 12-1

TOP: Taxes
MSC: Applicative


11.
Which of the following is not a cost of taxes to taxpayers?

a.
the tax payment itself

b.
deadweight losses

c.
administrative burdens

d.
goods and services provided by the government

ANS: D
PTS: 1
DIF: 1
REF: 12-1

TOP: Taxes
MSC: Applicative


12.
Which of the following is true about the percent of total income the U.S. government takes as taxes?

a.
In 1902 the government collected 7 percent of total income; in 2004, it collected 30 percent.

b.
In 1902 the government collected 30 percent of total income; in 2004, it collected 7 percent.

c.
In 1902 the government collected 7 percent of total income; in 2004, it collected 7 percent.

d.
In 1902 the government collected 30 percent of total income; in 2004, it collected 30 percent.

ANS: A
PTS: 1
DIF: 2
REF: 12-1

TOP: Taxes
MSC: Applicative


13.
Which of the following statements is not correct?

a.
All states have state income taxes, but the percentages vary widely.

b.
Sales taxes and property taxes are important revenue sources for state and local governments.

c.
Medicare spending has increased because the percentage of the population that is elderly has increased, as has the cost of health care compared to cost of other goods and services.

d.
A budget deficit occurs when government spending exceeds government receipts.

ANS: A
PTS: 1
DIF: 2
REF: 12-1

TOP: Taxes
MSC: Applicative


14.
Which of the following statements about state income taxes is correct?

a.
Some states do not tax income at all.

b.
If states tax income, they must follow federal guidelines for designing the tax structure.

c.
States are not allowed to have a higher marginal tax rate than the federal marginal tax rate.

d.
All of the above are correct.

ANS: A
PTS: 1
DIF: 1
REF: 12-1

TOP: Taxes
MSC: Applicative


15.
The U.S. federal government collects taxes in a number of ways. Rank the following sources of revenue from largest to the smallest.

a.
corporate income taxes, social security taxes, personal income taxes, import taxes

b.
estate taxes, corporate income taxes, excise taxes, individual income taxes

c.
corporate income taxes, payroll taxes, individual income taxes, excise taxes

d.
individual income taxes, payroll taxes, corporate income taxes, excise taxes

ANS: D
PTS: 1
DIF: 2
REF: 12-1

TOP: Taxes
MSC: Applicative


16.
Rate these taxes as sources of revenue to the federal government from most to least important.

a.
individual income taxes, social insurance taxes, corporate income taxes

b.
social insurance taxes, corporate income taxes, individual income taxes

c.
corporate income taxes, individual income taxes, social insurance taxes

d.
corporate income taxes, social insurance taxes, individual income taxes

ANS: A
PTS: 1
DIF: 2
REF: 12-1

TOP: Taxes
MSC: Applicative


17.
Most people agree that the tax system

a.
should be both efficient and equitable.

b.
cannot raise enough revenue to cover government expenditures.

c.
would raise more revenue if tax rates were lowered.

d.
should be rewritten to require everyone to pay the same percentage of income in taxes.

ANS: A
PTS: 1
DIF: 2
REF: 12-1

TOP: Taxes
MSC: Interpretive


18.
State and local governments

a.
are funded entirely by their own tax base.

b.
receive the majority of their tax revenues from corporate income tax.

c.
are generally not responsible for collecting sales taxes.

d.
receive some of their funds from the federal government.

ANS: D
PTS: 1
DIF: 2
REF: 12-1

TOP: Taxes
MSC: Applicative


19.
The amount of income tax owed by a family is

a.
not simply proportional to its total income.

b.
unaffected by deductions.

c.
total income minus tax credits.

d.
a constant fraction of income.

ANS: A
PTS: 1
DIF: 2
REF: 12-1

TOP: Taxes
MSC: Interpretive


20.
State and local governments

a.
use a mix of taxes and fees to generate revenue.

b.
are required by federal mandate to levy income taxes.

c.
are required to tax property at a standard rate set by the federal government.

d.
cannot impose state excise taxes on products that are taxed by the federal government.

ANS: A
PTS: 1
DIF: 2
REF: 12-1

TOP: Taxes
MSC: Interpretive


21.
State and local governments generate revenue from all of the following sources except 

a.
sales taxes.

b.
the federal government.

c.
corporate income taxes.

d.
customs duties.

ANS: D
PTS: 1
DIF: 2
REF: 12-1

TOP: Taxes
MSC: Applicative


22.
Which of the following statements is correct?

a.
National defense and Medicare are the two largest spending categories for the federal government.

b.
Welfare programs and highways are the two largest spending categories for state and local governments.

c.
Sales taxes and property taxes are the two most important revenue sources for state and local governments.

d.
Corporate income taxes are the largest source of revenue for the federal government.

ANS: C
PTS: 1
DIF: 3
REF: 12-1

TOP: Taxes
MSC: Applicative


23.
As a nation gets richer, the government typically takes 

a.
a constant share of income in taxes.

b.
a smaller share of income in taxes.

c.
a larger share of income in taxes.

d.
There is little evidence of a relationship between income and taxes for most countries.

ANS: C
PTS: 1
DIF: 1
REF: 12-1

TOP: Tax burden
MSC: Applicative


24.
Which of the following countries has the largest tax burden?

a.
Mexico

b.
Russia

c.
United States

d.
France

ANS: D
PTS: 1
DIF: 1
REF: 12-1

TOP: Tax burden
MSC: Applicative


25.
When comparing the tax burden of several major countries, the United States’s tax burden is

a.
the highest.

b.
in the top 20 percent.

c.
in the middle.

d.
near the bottom.

ANS: C
PTS: 1
DIF: 1
REF: 12-1

TOP: Tax burden
MSC: Applicative


26.
When compared to nonpoor countries, poor countries usually have

a.
very high tax burdens.

b.
similar tax burdens.

c.
relatively low tax burdens.

d.
no taxes because of high poverty levels.

ANS: C
PTS: 1
DIF: 2
REF: 12-1

TOP: Tax burden

MSC: Applicative


27.
Which of the following statements is not correct?

a.
The U.S. tax burden is high compared to many poor countries.

b.
As nations get richer, their governments typically collect a smaller share of income in taxes.

c.
The U.S. has a higher federal tax burden than Canada or Mexico.

d.
The U.S. tax burden is low compared to many European countries.

ANS: B
PTS: 1
DIF: 2
REF: 12-1

TOP: Tax burden

MSC: Interpretive


28.
Over the past 100 years, as the U.S. economy’s income has grown,

a.
tax rates have decreased, while tax revenues have increased.

b.
tax rates have increased, while tax revenues have decreased.

c.
U.S. tax rates have surpassed those of all other countries except Mexico and India.

d.
the government has grown even more.

ANS: D
PTS: 1
DIF: 2
REF: 12-1

TOP: Tax burden

MSC: Applicative


29.
Which of the following statements is correct?

a.
The U.S. federal government collected a higher percentage of income in taxes in the early 1900s than in the early 2000s.

b.
The U.S. federal government collects a higher percentage of income in taxes than many European countries, including France and Germany.

c.
The U.S. federal government collects a lower percentage of income in taxes than many developing countries, including Mexico and India.

d.
The U.S. federal government collects a similar percentage of income in taxes as Brazil and Canada.

ANS: D
PTS: 1
DIF: 2
REF: 12-1

TOP: Tax rates
MSC: Applicative


30.
Corporate profits distributed as dividends are

a.
tax free.

b.
taxed once.

c.
double taxed.

d.
triple taxed.

ANS: C
PTS: 1
DIF: 1
REF: 12-1

TOP: Corporate income tax
MSC: Applicative


31.
The government taxes corporate income on the basis of

a.
profit.

b.
the amount the firm receives for the goods or services it sells.

c.
the number of employees.

d.
All of the above are correct.

ANS: A
PTS: 1
DIF: 2
REF: 12-1

TOP: Corporate income tax
MSC: Definitional


32.
Corporate profits are

a.
included in payroll taxes.

b.
exempt from taxes.

c.
taxed twice, once as profit and once as dividends.

d.
taxed to pay for Medicare.

ANS: C
PTS: 1
DIF: 2
REF: 12-1

TOP: Corporate income tax
MSC: Applicative


33.
In the United States, the payroll tax is also called a

a.
dividend income tax.

b.
social insurance tax.

c.
value added tax.

d.
capital gains tax.

ANS: B
PTS: 1
DIF: 1
REF: 12-1

TOP: Payroll taxes
MSC: Definitional


34.
Which type of tax is used to finance the Social Security program in the United States?

a.
consumption tax

b.
income tax

c.
payroll tax

d.
property tax

ANS: C
PTS: 1
DIF: 1
REF: 12-1

TOP: Payroll taxes
MSC: Definitional


35.
A payroll tax is a tax on

a.
the wages that a firm pays its workers.

b.
earned and unearned income.

c.
specific goods like gasoline and cigarettes.

d.
corporate profits.

ANS: A
PTS: 1
DIF: 1
REF: 12-1

TOP: Payroll taxes
MSC: Definitional


36.
In 2004, social insurance taxes represented what percentage of total receipts for the federal government?

a.
50

b.
39

c.
20

d.
8

ANS: B
PTS: 1
DIF: 1
REF: 12-1

TOP: Payroll taxes
MSC: Applicative


37.
The payroll tax differs from the individual income tax because the payroll tax is primarily earmarked to pay for

a.
employer-provided pensions.

b.
Social Security and Medicare.

c.
employer-provided health benefits.

d.
job loss and training programs.

ANS: B
PTS: 1
DIF: 1
REF: 12-1

TOP: Payroll taxes
MSC: Definitional


38.
A tax on the wages that a firm pays its workers is called 

a.
an income tax.

b.
an excise tax.

c.
a consumption tax.

d.
a payroll tax.

ANS: D
PTS: 1
DIF: 1
REF: 12-1

TOP: Payroll taxes
MSC: Definitional


39.
If Nebraska imposed a tax on milk of 10 cents per gallon,

a.
this is an excise tax.

b.
this is an income tax.

c.
tax revenue will fall.

d.
the supply of milk will rise.

ANS: A
PTS: 1
DIF: 1
REF: 12-1

TOP: Excise taxes
MSC: Definitional


40.
Taxes on specific goods such as cigarettes, gasoline, and alcoholic beverages are called

a.
sales taxes.

b.
excise taxes.

c.
social insurance taxes.

d.
consumption taxes.

ANS: B
PTS: 1
DIF: 1
REF: 12-1

TOP: Excise taxes
MSC: Definitional


41.
A transfer payment is a government payment

a.
to companies that provide goods or services to government agencies.

b.
designed to transfer funds from one government agency to another.

c.
which transfers revenue from the federal government to state government.

d.
not made in exchange for a good or service.

ANS: D
PTS: 1
DIF: 1
REF: 12-1

TOP: Transfer payments
MSC: Definitional


42.
A budget deficit

a.
occurs when government receipts are less than spending.

b.
occurs when government spending is less than receipts.

c.
occurs when government receipts are equal to spending.

d.
is the accumulation of years of government overspending.

ANS: A
PTS: 1
DIF: 1
REF: 12-1

TOP: Budget deficits
MSC: Definitional


43.
The federal government finances budget deficits by

a.
selling stock, much like a corporation.

b.
printing additional currency.

c.
borrowing from the public.

d.
raising property taxes.

ANS: C
PTS: 1
DIF: 1
REF: 12-1

TOP: Budget deficits
MSC: Applicative


44.
Suppose that in 2012 the average citizen’s federal tax bill is $4,872, and total federal spending is $6,532 per person. In 2012, the federal government will have

a.
a budget surplus.

b.
a budget deficit.

c.
horizontal equity.

d.
vertical equity.

ANS: B
PTS: 1
DIF: 2
REF: 12-1

TOP: Budget deficits
MSC: Analytical


45.
The government finances the budget deficit by

a.
borrowing from the public.

b.
borrowing solely from the Federal Reserve Bank.

c.
printing currency in the amount of the budget deficit.

d.
requiring that budget surpluses occur every other year to pay off the deficits.

ANS: A
PTS: 1
DIF: 2
REF: 12-1

TOP: Budget deficits
MSC: Applicative


46.
Which of the following contributes to the projected rise in government spending on Social Security and Medicare as a percentage of GDP?

a.
increasing life expectancies

b.
falling fertility rates

c.
increasing health care costs

d.
All of the above are correct.

ANS: D
PTS: 1
DIF: 2
REF: 12-1

TOP: Budget deficits
MSC: Applicative


47.
From 1950 to today, government spending on Social Security, Medicare, and Medicaid as a percentage of GDP has 

a.
decreased from about eight percent to less than one percent.

b.
increased from less than one percent to about eight percent.

c.
remained constant at less than one percent.

d.
remained constant at about eight percent.

ANS: B
PTS: 1
DIF: 2
REF: 12-1

TOP: Budget deficits
MSC: Applicative


48.
Most health care economists believe that it will be very difficult to stem the rise in health care costs because 

a.
government intervention is unpopular with most citizens, especially the elderly.

b.
improvements in medical technology have not kept pace with technological improvements in other sectors of the economy.

c.
increased competition will increase rather than reduce costs.

d.
medical advances are providing better ways to extend and improve human lives but at very expensive costs.

ANS: D
PTS: 1
DIF: 2
REF: 12-1

TOP: Budget deficits
MSC: Applicative


49.
When government receipts exceed total government spending during a fiscal year, the difference is 

a.
a budget surplus.

b.
a budget deficit.

c.
the national debt.

d.
automatically refunded.

ANS: A
PTS: 1
DIF: 1
REF: 12-1

TOP: Budget surpluses
MSC: Definitional


50.
Suppose that in 2009 the average citizen’s federal tax bill is $5,678, and total federal spending is $5,467 per person. In 2009, the federal government will have

a.
a budget surplus.

b.
a budget deficit.

c.
horizontal equity.

d.
vertical equity.

ANS: A
PTS: 1
DIF: 2
REF: 12-1

TOP: Budget surpluses
MSC: Analytical


51.
A family’s income tax liability is

a.
a standard percentage of all income earned.

b.
determined by wage income rather than dividend and interest income.

c.
based on total income.

d.
constant from year to year.

ANS: C
PTS: 1
DIF: 1
REF: 12-1

TOP: Income taxes
MSC: Definitional

Table 12-1

	On Taxable Income ...
	The Tax Rate is ...

	Up to $7,150
	10%

	From $7,150 to $29,050
	15

	From $29,050 to $70,350
	25

	From $70,350 to $146,750
	28

	From $146,750 to $319,100
	33

	Over $319,100
	35



52.
Refer to Table 12-1. If Danielle has $38,000 in taxable income, her tax liability will be 

a.
$2,237.50.

b.
$3,800.

c.
$6,237.50.

d.
$9,500.

ANS: C
PTS: 1
DIF: 3
REF: 12-1

TOP: Income taxes
MSC: Analytical


53.
Refer to Table 12-1. If Chris has $100,000 in taxable income, his tax liability will be 

a.
$8,302.

b.
$22,627.

c.
$28,000.

d.
$29,650.

ANS: B
PTS: 1
DIF: 3
REF: 12-1

TOP: Income taxes
MSC: Analytical


54.
Refer to Table 12-1. If Morgan has $29,050 in taxable income, her tax liability will be 

a.
$2,905.

b.
$3,285.

c.
$4,000.

d.
$4,357.50.

ANS: C
PTS: 1
DIF: 3
REF: 12-1

TOP: Income taxes
MSC: Analytical


55.
A tax levied on the total amount spent in retail stores is called 

a.
a sales tax.

b.
an excise tax.

c.
a retail tax.

d.
an income tax.

ANS: A
PTS: 1
DIF: 1
REF: 12-1

TOP: Sales taxes

MSC: Applicative


56.
The tax that generates the most revenue for state and local government is the

a.
corporate income tax.

b.
individual income tax.

c.
property tax.

d.
sales tax.

ANS: D
PTS: 1
DIF: 1
REF: 12-1

TOP: Sales taxes

MSC: Applicative


57.
When a state levies a sales tax, the tax

a.
is paid only by the state’s residents.

b.
occasionally excludes items that are deemed to be necessities.

c.
is commonly levied on labor services.

d.
applies to wholesale purchases but not retail purchases.

ANS: B
PTS: 1
DIF: 1
REF: 12-1

TOP: Sales taxes

MSC: Applicative


58.
State and local governments receive the largest portion of their tax revenues from

a.
sales taxes and income taxes.

b.
income taxes and property taxes.

c.
payroll taxes and income taxes.

d.
property taxes and sales taxes.

ANS: D
PTS: 1
DIF: 2
REF: 12-1

TOP: Property taxes | Sales taxes
MSC: Applicative


59.
For state and local governments, sales taxes and property taxes make up approximately 

a.
17 percent of all receipts.

b.
20 percent of all receipts.

c.
37 percent of all receipts.

d.
57 percent of all receipts.

ANS: C
PTS: 1
DIF: 2
REF: 12-1

TOP: Sales taxes | Property taxes
MSC: Applicative


60.
All of the following are transfer payments except
a.
Medicaid.

b.
unemployment compensation.

c.
personal income taxes.

d.
Food Stamps.

ANS: C
PTS: 1
DIF: 1
REF: 12-1

TOP: Government spending
MSC: Definitional


61.
Temporary Assistance for Needy Families (TANF) falls into which spending category?

a.
Medicare

b.
income security

c.
guaranteed social eligibility

d.
Social Security

ANS: B
PTS: 1
DIF: 1
REF: 12-1

TOP: Government spending
MSC: Applicative


62.
The single largest expenditure by state and local governments is on

a.
highways.

b.
police.

c.
public welfare.

d.
education.

ANS: D
PTS: 1
DIF: 1
REF: 12-1

TOP: Government spending
MSC: Applicative


63.
For state and local governments, education accounts for what percent of spending?

a.
25 percent

b.
34 percent

c.
50 percent

d.
75 percent

ANS: B
PTS: 1
DIF: 1
REF: 12-1

TOP: Government spending
MSC: Applicative


64.
As the economy’s income has grown, the government has

a.
grown at about the same pace.

b.
grown at a faster pace.

c.
grown at a slower pace.

d.
shrunk.

ANS: B
PTS: 1
DIF: 1
REF: 12-1

TOP: Government spending
MSC: Applicative


65.
Most analysts expect the largest federal spending category to continue to grow in importance for many years into the future. What category of spending is this?

a.
national defense

b.
Social Security

c.
income security

d.
farm support programs

ANS: B
PTS: 1
DIF: 1
REF: 12-1

TOP: Government spending
MSC: Applicative


66.
The government’s health plan for the elderly is called

a.
Medicaid.

b.
Medicare.

c.
Social Security.

d.
TANF.

ANS: B
PTS: 1
DIF: 1
REF: 12-1

TOP: Government spending
MSC: Applicative


67.
Medicare is the

a.
government’s health plan for the elderly.

b.
government’s health plan for the poor.

c.
another name for Social Security.

d.
Both a and c are correct.

ANS: A
PTS: 1
DIF: 1
REF: 12-1

TOP: Government spending
MSC: Applicative


68.
The federal healthcare spending program that specifically targets the poor is called

a.
Medicaid.

b.
Medicare.

c.
National Institutes of Health.

d.
Blue Cross/Blue Shield.

ANS: A
PTS: 1
DIF: 1
REF: 12-1

TOP: Government spending
MSC: Applicative


69.
Medicaid is 

a.
the government’s health plan for the elderly.

b.
the government’s health plan for the poor.

c.
another name for Social Security.

d.
Both a and c are correct.

ANS: B
PTS: 1
DIF: 1
REF: 12-1

TOP: Government spending
MSC: Applicative


70.
State and local government spending on public welfare includes

a.
trash removal.

b.
transfer payments to the poor.

c.
libraries.

d.
road repairs.

ANS: B
PTS: 1
DIF: 1
REF: 12-1

TOP: Government spending
MSC: Applicative


71.
Public schools, which educate most students through high school, are paid for primarily by

a.
state governments.

b.
local governments.

c.
the federal government.

d.
taxpayers directly.

ANS: B
PTS: 1
DIF: 1
REF: 12-1

TOP: Government spending
MSC: Applicative


72.
The most common explanation for Social Security payments accounting for a larger share of federal government expenditures is

a.
increases in life expectancy.

b.
people becoming eligible for Social Security benefits at an earlier age.

c.
increases in birth rates among teenagers and the poor.

d.
falling payroll tax receipts.

ANS: A
PTS: 1
DIF: 2
REF: 12-1

TOP: Government spending
MSC: Applicative


73.
Which of the following is not true about government spending on national defense?

a.
It is the second-largest spending category for the U.S. federal government.

b.
It includes salaries of military personnel.

c.
It fluctuates over time as the political climate changes.

d.
It is not financed with tax revenue.

ANS: D
PTS: 1
DIF: 2
REF: 12-1

TOP: Government spending
MSC: Applicative


74.
As government debt increases,

a.
Congress will reduce spending by an equal proportion.

b.
the government must spend more revenue on interest payments.

c.
a trade-off with government deficits is inevitable.

d.
taxes must rise to cover the deficit.

ANS: B
PTS: 1
DIF: 2
REF: 12-1

TOP: Government spending
MSC: Interpretive


75.
The U.S. federal government spends its revenues in a number of ways. Rank the following spending categories from largest to smallest.

a.
Social Security, national defense, income security, net interest

b.
health care, national defense, net interest, income security

c.
Social Security, health care, national defense, federal judicial system (including prisons)

d.
national defense, social security, net interest, income security

ANS: A
PTS: 1
DIF: 2
REF: 12-1

TOP: Government spending
MSC: Applicative


76.
The three largest categories of spending by the Federal government in order from first to third would be

a.
Social Security, income security, and national defense.

b.
national defense, income security, and Social Security.

c.
Social Security, national defense, and income security.

d.
income security, Social Security, and national defense.

ANS: C
PTS: 1
DIF: 2
REF: 12-1

TOP: Government spending
MSC: Applicative


77.
In 2004, total spending per person by the federal government amounted to

a.
$4,750.

b.
$5,000.

c.
$6,400.

d.
$7,800.

ANS: D
PTS: 1
DIF: 2
REF: 12-1

TOP: Government spending
MSC: Applicative


78.
Specific spending programs that are included under the general category of income security include

a.
health programs.

b.
Medicare.

c.
Social Security.

d.
Food Stamps.

ANS: D
PTS: 1
DIF: 2
REF: 12-1

TOP: Government spending
MSC: Applicative


79.
Like spending on Social Security, the share of federal government spending on Medicare has risen substantially over time. This is most likely a result of

a.
a rising population of poor in the economy.

b.
the elderly population growing more rapidly than the overall population.

c.
an immigration policy that promotes an influx of migrant farm workers.

d.
All of the above are important factors.

ANS: B
PTS: 1
DIF: 2
REF: 12-1

TOP: Government spending
MSC: Interpretive


80.
Medicare has been the focus of many proposed reforms over the last several years because

a.
health care costs have risen more rapidly than the cost of other goods and services produced in the economy.

b.
nationalized health care systems are more efficient than private health care systems.

c.
cures for many major diseases are likely to be found in the next few years.

d.
government health care research has found that limiting access to doctors will increase the general health of the population.

ANS: A
PTS: 1
DIF: 2
REF: 12-1

TOP: Government spending
MSC: Interpretive


81.
Rank the following state and local government expenditure categories from largest to smallest.

a.
education, public welfare, highways

b.
transfer payments to the poor, education, public safety

c.
police, road maintenance, education

d.
public health, public safety, public utilities

ANS: A
PTS: 1
DIF: 2
REF: 12-1

TOP: Government spending
MSC: Applicative


82.
The public welfare spending category for state and local governments includes

a.
many programs that are initiated by private foundations.

b.
contributions in support of public universities.

c.
some federal programs that are administered by state and local governments.

d.
All of the above are correct.

ANS: C
PTS: 1
DIF: 2
REF: 12-1

TOP: Government spending
MSC: Applicative


83.
Among the major spending categories for state and local governments, which of the following statements is correct?

a.
The biggest single expenditure is education.

b.
The public welfare category does not include the costs of administering some federal programs.

c.
As a general rule, spending on public schools and public universities exceeds that spent on all other services combined.

d.
Local services such as libraries, police, trash removal, fire protection, park maintenance, etc. collectively are a very small share of expenditures.

ANS: A
PTS: 1
DIF: 2
REF: 12-1

TOP: Government spending
MSC: Interpretive


84.
The largest category of federal government spending is growing because

a.
the U.S. must spend more on national defense due to the war against terror.

b.
the elderly population is increasing due to rising life expectancies.

c.
expenditures on space exploration have increased dramatically.

d.
health care costs are rising faster than any other service in the U.S.

ANS: B
PTS: 1
DIF: 3
REF: 12-1

TOP: Government spending
MSC: Interpretive

Table 12-2

United States Income Tax Rates for a Single Individual, 2002 and 2003.

	2002 Tax Rates 
	Income Ranges
	2003 Tax Rates
	Income Ranges

	 15%
	$0 – $27,050
	 10%
	$0 – $6,000

	 28%
	$27,051 – $65,550
	 15%
	$6,001 – $28,400

	 31%
	$65,551 – $136,750
	 27%
	$28,401 – $68,800

	 36%
	$136,751 – $297,350
	 30%
	$68,801 – $143,500

	 39.6%
	$297,350 and above
	 35%
	$143,501 – $311,950

	
	
	 38.6%
	$311,951 and above



85.
Refer to Table 12-2. Costa is a single person whose taxable income is $50,000 a year. What is his total tax due in 2002?

a.
$4,057.50

b.
$6,426

c.
$10,483.50

d.
$14,000

ANS: C
PTS: 1
DIF: 2
REF: 12-1

TOP: Taxes
MSC: Analytical


86.
Refer to Table 12-2. Costa is a single person whose taxable income is $50,000 a year. What is his total tax due in 2003?

a.
$3,360

b.
$5,832

c.
$9,792

d.
$13,500

ANS: C
PTS: 1
DIF: 2
REF: 12-1

TOP: Taxes
MSC: Analytical


87.
Refer to Table 12-2. Surbhi is a single person whose taxable income is $150,000 a year. What is her total tax due in 2002?

a.
$22,072

b.
$41,679.50

c.
$43,789.75

d.
$54,000

ANS: B
PTS: 1
DIF: 2
REF: 12-1

TOP: Taxes
MSC: Analytical


88.
Refer to Table 12-2. Surbhi is a single person whose taxable income is $150,000 a year. What is her total tax due in 2003?

a.
$22,740.65

b.
$33,526.75

c.
$39,553

d.
$52,500

ANS: C
PTS: 1
DIF: 2
REF: 12-1

TOP: Taxes
MSC: Analytical


89.
Refer to Table 12-2. Costa is a single person whose taxable income is $50,000 a year. By how much is his income tax bill lowered due to the change in the tax rates between 2002 and 2003?

a.
$500

b.
$594

c.
$691.50

d.
$697.50

ANS: C
PTS: 1
DIF: 3
REF: 12-1

TOP: Taxes
MSC: Analytical


90.
Refer to Table 12-2. Surbhi is a single person whose taxable income is $150,000 a year. By how much is her income tax bill lowered because of the change in the tax rates between 2002 and 2003?

a.
$648.65

b.
$2,000

c.
$2,126.50

d.
$8,152.75

ANS: C
PTS: 1
DIF: 3
REF: 12-1

TOP: Taxes
MSC: Analytical


91.
Refer to Table 12-2. Costa is a single person whose taxable income is $50,000 a year. What is his average tax rate in 2002?

a.
19.6%

b.
20.5%

c.
21%

d.
28%

ANS: C
PTS: 1
DIF: 3
REF: 12-2

TOP: Average tax rates
MSC: Analytical


92.
Refer to Table 12-2. Costa is a single person whose taxable income is $50,000 a year. What is his average tax rate in 2003?

a.
19.6%

b.
20.5%

c.
21%

d.
27%

ANS: A
PTS: 1
DIF: 3
REF: 12-2

TOP: Average tax rates
MSC: Analytical


93.
Refer to Table 12-2. Costa is a single person whose taxable income is $50,000 a year. What happened to his average tax rate between 2002 and 2003?

a.
It increased.

b.
It decreased.

c.
It did not change.

d.
We do not have enough information to answer this question.

ANS: B
PTS: 1
DIF: 3
REF: 12-2

TOP: Average tax rates
MSC: Analytical


94.
Refer to Table 12-2. Surbhi is a single person whose taxable income is $150,000 a year. What is her average tax rate in 2002?

a.
26%

b.
27.8%

c.
31.2%

d.
36%

ANS: B
PTS: 1
DIF: 3
REF: 12-2

TOP: Average tax rates
MSC: Analytical


95.
Refer to Table 12-2. Surbhi is a single person whose taxable income is $150,000 a year. What is her average tax rate in 2003?

a.
26.4%

b.
27.8%

c.
30%

d.
35%

ANS: A
PTS: 1
DIF: 3
REF: 12-2

TOP: Average tax rates
MSC: Analytical


96.
Refer to Table 12-2. Surbhi is a single person whose taxable income is $150,000 a year. What happened to her average tax rate between 2002 and 2003?

a.
It increased.

b.
It decreased.

c.
It did not change.

d.
We do not have enough information to answer this question.

ANS: B
PTS: 1
DIF: 3
REF: 12-2

TOP: Average tax rates
MSC: Analytical


97.
Refer to Table 12-2. Costa is a single person whose taxable income is $50,000 a year. What is his marginal tax rate in 2002?

a.
15%

b.
28%

c.
31%

d.
36%

ANS: B
PTS: 1
DIF: 2
REF: 12-2

TOP: Marginal tax rates
MSC: Analytical


98.
Refer to Table 12-2. Costa is a single person whose taxable income is $50,000 a year. What is his marginal tax rate in 2003?

a.
10%

b.
15%

c.
27%

d.
30%

ANS: C
PTS: 1
DIF: 2
REF: 12-2

TOP: Marginal tax rates
MSC: Analytical


99.
Refer to Table 12-2. Costa is a single person whose taxable income is $50,000 a year. What happened to his marginal tax rate between 2002 and 2003?

a.
It increased.

b.
It decreased.

c.
It did not change.

d.
We do not have enough information to answer this question.

ANS: B
PTS: 1
DIF: 2
REF: 12-2

TOP: Marginal tax rates
MSC: Analytical


100.
Refer to Table 12-2. Surbhi is a single person whose taxable income is $150,000 a year. What is her marginal tax rate in 2002?

a.
15%

b.
28%

c.
31%

d.
36%

ANS: D
PTS: 1
DIF: 2
REF: 12-2

TOP: Marginal tax rates
MSC: Analytical


101.
Refer to Table 12-2. Surbhi is a single person whose taxable income is $150,000 a year. What is her marginal tax rate in 2003?

a.
15%

b.
27%

c.
30%

d.
35%

ANS: D
PTS: 1
DIF: 2
REF: 12-2

TOP: Marginal tax rates
MSC: Analytical


102.
Refer to Table 12-2. Surbhi is a single person whose taxable income is $150,000 a year. What happened to her marginal tax rate between 2002 and 2003?

a.
It increased.

b.
It decreased.

c.
It did not change.

d.
We do not have enough information to answer this question.

ANS: B
PTS: 1
DIF: 2
REF: 12-2

TOP: Marginal tax rates
MSC: Analytical


103.
Refer to Table 12-2. What type of tax structure did the United States have in 2002 for single individuals?

a.
a proportional tax structure

b.
a regressive tax structure

c.
a progressive tax structure

d.
a lump-sum tax structure

ANS: C
PTS: 1
DIF: 3
REF: 12-3

TOP: Progressive taxes
MSC: Analytical


104.
Refer to Table 12-2. What type of tax structure does the United States have in 2003 for single individuals?

a.
a proportional tax structure

b.
a regressive tax structure

c.
a progressive tax structure

d.
a lump-sum tax structure

ANS: C
PTS: 1
DIF: 3
REF: 12-3

TOP: Progressive taxes
MSC: Analytical


105.
A tax system with little deadweight loss and a small administrative burden would be described as 

a.
equitable.

b.
communistic.

c.
capitalistic.

d.
efficient.

ANS: D
PTS: 1
DIF: 1
REF: 12-2

TOP: Taxes
MSC: Interpretive


106.
Which of the following is a characteristic of a more efficient tax system?

a.
The system minimizes deadweight loss.

b.
The system raises the same amount of revenue at a lower cost.

c.
The system minimizes administrative burdens.

d.
All of the above are correct.

ANS: D
PTS: 1
DIF: 2
REF: 12-2

TOP: Taxes
MSC: Interpretive


107.
Part of the administrative burden of a tax is 

a.
the money people pay to the government in taxes.

b.
reducing the size of the market because of the tax.

c.
the hassle of filling out tax forms that is imposed on taxpayers who comply with the tax.

d.
the cost of administering programs that use tax revenue.

ANS: C
PTS: 1
DIF: 2
REF: 12-2

TOP: Taxes
MSC: Applicative


108.
In designing a tax system, policymakers have two objectives that are often conflicting. They are 

a.
maximizing revenue and minimizing costs to taxpayers.

b.
efficiency and minimizing costs to taxpayers.

c.
efficiency and equity.

d.
maximizing revenue and reducing the national debt.

ANS: C
PTS: 1
DIF: 2
REF: 12-2

TOP: Taxes
MSC: Interpretive


109.
One tax system is less efficient than another if it

a.
places a lower tax burden on lower-income families than on higher-income families.

b.
places a higher tax burden on lower-income families than on higher-income families.

c.
raises the same amount of revenue at a higher cost to taxpayers.

d.
raises less revenue at a lower cost to taxpayers.

ANS: C
PTS: 1
DIF: 2
REF: 12-2

TOP: Taxes
MSC: Interpretive


110.
The deadweight loss of a tax is

a.
the reduction in economic welfare of taxpayers that exceeds the revenue raised by the government.

b.
the improved efficiency created as people reallocate resources according to the tax incentive rather than the true costs and benefits.

c.
the loss in tax revenues.

d.
Both a and b are correct.

ANS: A
PTS: 1
DIF: 1
REF: 12-2

TOP: Deadweight losses
MSC: Definitional


111.
Taxes can create deadweight losses because they

a.
allow the government to fund private goods.

b.
create administrative burdens as people comply with tax laws.

c.
allow the government to fund public goods.

d.
Both b and c are correct.

ANS: B
PTS: 1
DIF: 1
REF: 12-2

TOP: Deadweight losses
MSC: Interpretive


112.
Taxes create deadweight losses because they

a.
reduce profits of firms.

b.
distort incentives.

c.
cause prices to rise.

d.
create revenue for the government.

ANS: B
PTS: 1
DIF: 1
REF: 12-2

TOP: Deadweight losses
MSC: Applicative


113.
An optimal tax is one that minimizes the 

a.
external benefit.

b.
total deadweight loss from the tax.

c.
income taxes.

d.
horizontal equity.

ANS: B
PTS: 1
DIF: 2
REF: 12-2

TOP: Deadweight losses
MSC: Applicative


114.
Deadweight losses occur in markets in which

a.
firms decide to downsize.

b.
the government imposes a tax.

c.
profits fall because of low consumer demand.

d.
equilibrium prices fall.

ANS: B
PTS: 1
DIF: 2
REF: 12-2

TOP: Deadweight losses
MSC: Applicative


115.
An efficient tax system is one that imposes small

a.
deadweight losses and administrative burdens.

b.
marginal rates and deadweight losses.

c.
administrative burdens and transfers of money.

d.
marginal rates and transfers of money.

ANS: A
PTS: 1
DIF: 2
REF: 12-2

TOP: Deadweight losses
MSC: Interpretive


116.
Deadweight losses represent the

a.
inefficiency that taxes create.

b.
shift in benefit from producers to consumers.

c.
part of consumer and producer surplus that is now revenue to the government.

d.
loss in profit to producers when quantity demanded falls as a result of higher prices.

ANS: A
PTS: 1
DIF: 2
REF: 12-2

TOP: Deadweight losses
MSC: Applicative


117.
One reason that deadweight losses are so difficult to avoid is that

a.
taxes affect the decisions that people make.

b.
income taxes are not paid by everyone.

c.
consumption taxes must be universally applied to all commodities.

d.
the administrative burden is hard to calculate.

ANS: A
PTS: 1
DIF: 2
REF: 12-2

TOP: Deadweight losses
MSC: Applicative


118.
Deadweight losses are associated with

a.
taxes that distort the incentives that people face.

b.
taxes that target expenditures on survivor’s benefits for Social Security.

c.
taxes that have no efficiency losses.

d.
lump-sum taxes.

ANS: A
PTS: 1
DIF: 2
REF: 12-2

TOP: Deadweight losses
MSC: Interpretive


119.
When taxes are imposed on a commodity,

a.
there is never a deadweight loss.

b.
some consumers alter their consumption by not purchasing the taxed commodity.

c.
tax revenue will rise by the amount of the tax multiplied by the before-tax level of consumption.

d.
the taxes do not distort incentives.

ANS: B
PTS: 1
DIF: 2
REF: 12-2

TOP: Deadweight losses
MSC: Interpretive


120.
In the absence of taxes, Janet would prefer to purchase a large sport utility vehicle (SUV). The government has recently decided to place a $10,000 nuisance tax on SUVs. If Janet decides to purchase a small economy car as a result of the tax, which of the following statements is correct?

a.
Other people who choose to purchase SUVs will incur the cost of the deadweight loss of the tax.

b.
There are no deadweight losses as long as some people still choose to purchase SUVs.

c.
In order to determine the magnitude of the deadweight loss, we must add the revenues from the tax to the loss in Janet’s consumer surplus.

d.
Janet is worse off, and her loss of welfare is part of the deadweight loss of the tax.

ANS: D
PTS: 1
DIF: 2
REF: 12-2

TOP: Deadweight losses
MSC: Interpretive


121.
Taxes create deadweight loss when they

a.
distort behavior.

b.
cause the price of the product to increase.

c.
don’t raise sufficient government revenue.

d.
cannot be computed easily.

ANS: A
PTS: 1
DIF: 2
REF: 12-2

TOP: Deadweight losses
MSC: Applicative


122.
Caroline, John, and Jackie each like historical biographies. The current bestseller costs $25. Caroline values it at $30, John at $28, and Jackie at $26. Suppose that if the government taxes books at $2 each, the selling price will rise to $27. A consequence of the tax is that

a.
consumer surplus shrinks by $9 and tax revenues increase by $6, so there is a deadweight loss of $3.

b.
consumer surplus shrinks by $6 and tax revenues increase by $6, so there is no deadweight loss.

c.
consumer surplus shrinks by $5 and tax revenues increase by $6, so there is no deadweight loss.

d.
consumer surplus shrinks by $5 and tax revenues increase by $4, so there is a deadweight loss of $1.

ANS: D
PTS: 1
DIF: 3
REF: 12-2

TOP: Deadweight losses
MSC: Analytical


123.
Mark, Kerry, Greg, and Carlos each like Chicago Cubs baseball games. The single-game ticket price for an infield box seat is $50. Mark values a ticket at $70, Kerry at $65, Greg at $60, and Carlos at $55. Suppose that if the government taxes tickets at $5 each, the selling price will rise to $55. A consequence of the tax is that

a.
consumer surplus shrinks by $50 and tax revenues increase by $20, so there is a deadweight loss of $30.

b.
consumer surplus shrinks by $30 and tax revenues increase by $20, so there is a deadweight loss of $10.

c.
consumer surplus shrinks by $20 and tax revenues increase by $20, so there is no deadweight loss.

d.
consumer surplus shrinks by $50 and tax revenues increase by $20, so there is no deadweight loss.

ANS: C
PTS: 1
DIF: 3
REF: 12-2

TOP: Deadweight losses
MSC: Analytical


124.
Kyle places a $10 value on a glass of red wine, and Keith places an $8 value on it. If there is no tax on glasses of red wine, the price of a glass of red wine reflects the cost of making it. The equilibrium price for a glass of red wine is $6. How much total consumer surplus do Kyle and Keith get?

a.
$2

b.
$4

c.
$6

d.
$8

ANS: C
PTS: 1
DIF: 3
REF: 12-2

TOP: Deadweight losses
MSC: Analytical


125.
Kyle places a $10 value on a glass of red wine, and Keith places an $8 value on it. If there is no tax on glasses of red wine, the price of a glass of red wine reflects the cost of making it. The equilibrium price for a glass of red wine is $6. Suppose the government levies a tax of $2 on each glass of red wine, and the equilibrium price of a glass of red wine increases to $8. How much tax revenue is collected?

a.
$0

b.
$2

c.
$4

d.
$6

ANS: C
PTS: 1
DIF: 3
REF: 12-2

TOP: Deadweight losses
MSC: Analytical


126.
Kyle places a $10 value on a glass of red wine, and Keith places an $8 value on it. If there is no tax on glasses of red wine, the price of a glass of red wine reflects the cost of making it. The equilibrium price for a glass of red wine is $6. Suppose the government levies a tax of $2 on each glass of red wine, and the equilibrium price of a glass of red wine increases to $8. What is total consumer surplus after the tax is levied?

a.
$0

b.
$2

c.
$4

d.
$6

ANS: B
PTS: 1
DIF: 3
REF: 12-2

TOP: Deadweight losses
MSC: Analytical


127.
Kyle places a $10 value on a glass of red wine, and Keith places an $8 value on it. If there is no tax on glasses of red wine, the price of a glass of red wine reflects the cost of making it. The equilibrium price for a glass of red wine is $6. Suppose the government levies a tax of $2 on each glass of red wine, and the equilibrium price of a glass of red wine increases to $8. Because total consumer surplus has 

a.
fallen by more than the tax revenue, the tax has a deadweight loss

b.
fallen by less than the tax revenue, the tax has no dead weight loss.

c.
fallen by exactly the amount of the tax revenue, the tax has no deadweight loss.

d.
increased by less than the tax revenue, the tax has a deadweight loss.

ANS: C
PTS: 1
DIF: 3
REF: 12-2

TOP: Deadweight losses
MSC: Analytical


128.
Kyle places a $10 value on a glass of red wine, and Keith places an $8 value on it. If there is no tax on glasses of red wine, the price of a glass of red wine reflects the cost of making it. The equilibrium price for a glass of red wine is $6. Suppose the government levies a tax of $3 on each glass of red wine, and the equilibrium price of a glass of red wine increases to $9. How much tax revenue is collected?

a.
$0

b.
$3

c.
$6

d.
$9

ANS: B
PTS: 1
DIF: 3
REF: 12-2

TOP: Deadweight losses
MSC: Analytical


129.
Kyle places a $10 value on a glass of red wine, and Keith places an $8 value on it. If there is no tax on glasses of red wine, the price of a glass of red wine reflects the cost of making it. The equilibrium price for a glass of red wine is $6. Suppose the government levies a tax of $3 on each glass of red wine, and the equilibrium price of a glass of red wine increases to $9. What is total consumer surplus after the tax is levied?

a.
$1

b.
$3

c.
$4

d.
$6

ANS: A
PTS: 1
DIF: 3
REF: 12-2

TOP: Deadweight losses
MSC: Analytical


130.
Kyle places a $10 value on a glass of red wine, and Keith places an $8 value on it. If there is no tax on glasses of red wine, the price of a glass of red wine reflects the cost of making it. The equilibrium price for a glass of red wine is $6. Suppose the government levies a tax of $3 on each glass of red wine, and the equilibrium price of a glass of red wine increases to $9. Because total consumer surplus has 

a.
fallen by more than the tax revenue, the tax has a deadweight loss.

b.
fallen by less than the tax revenue, the tax has no deadweight loss.

c.
fallen by exactly the amount of the tax revenue, the tax has no deadweight loss.

d.
increased by less than the tax revenue, the tax has a deadweight loss.

ANS: A
PTS: 1
DIF: 3
REF: 12-2

TOP: Deadweight losses
MSC: Analytical


131.
Part of the deadweight loss from taxing labor earnings is that people

a.
will work more.

b.
will be reluctant to hire accountants to file their tax returns.

c.
with low tax liabilities will universally be worse off than under some other tax policy.

d.
will work less.

ANS: D
PTS: 1
DIF: 3
REF: 12-2

TOP: Deadweight losses
MSC: Interpretive

Table 12-3

	Ski Weekend Trip

	Value to Allyn
	$85

	Value to Pam
	$75

	Value to Greg
	$65

	Value to Dana
	$40



132.
Refer to Table 12-3. Assume that the price of a weekend ski pass is $38 and that the price reflects the actual unit cost of providing a weekend of skiing. What is the value of the surplus that accrues to all four skiers from their weekend trip?

a.
$265

b.
$113

c.
$140

d.
$105

ANS: B
PTS: 1
DIF: 3
REF: 12-2

TOP: Deadweight losses
MSC: Analytical


133.
Refer to Table 12-3. Assume that the price of a weekend ski pass is $38 and that the price reflects the actual unit cost of providing a weekend of skiing. How much consumer surplus accrues to Allyn and Greg individually?

a.
$85 and $65 respectively

b.
$49 and $35 respectively

c.
$47 and $27 respectively

d.
$37 and $17 respectively

ANS: C
PTS: 1
DIF: 3
REF: 12-2

TOP: Deadweight losses
MSC: Analytical


134.
Refer to Table 12-3. Assume that the price of a weekend ski pass is $38 and that the price reflects the actual unit cost of providing a weekend of skiing. Suppose the government imposes a tax of $15 on skiing, which raises the price of a weekend ski pass to $53. The deadweight loss associated with the tax is

a.
$2.

b.
$37.

c.
$52.

d.
$97.

ANS: A
PTS: 1
DIF: 3
REF: 12-2

TOP: Deadweight losses
MSC: Analytical

Table 12-4

	Hot Fudge Brownie Delight

	Value to Brad
	$8.00

	Value to Jennifer
	$6.00



135.
Refer to Table 12-4. Suppose that the government imposes a $2 tax on delights, causing the price to increase from $5.00 to $7.00. Total consumer surplus

a.
falls by less than the tax revenue generated.

b.
falls by more than the tax revenue generated.

c.
falls by the same amount as the tax revenue generated.

d.
will not fall since Jennifer will no longer be in the market.

ANS: B
PTS: 1
DIF: 3
REF: 12-2

TOP: Deadweight losses
MSC: Analytical


136.
Refer to Table 12-4. Suppose that the government imposes a $2 tax on delights, causing the price to increase from $5.00 to $7.00. Deadweight loss arises because

a.
Jennifer will pay more tax as a percentage of her value of delights than Brad.

b.
Brad must pay the $2.00 tax from his consumer surplus.

c.
Brad will have to pay a higher price for delights.

d.
Jennifer will leave the market.

ANS: D
PTS: 1
DIF: 3
REF: 12-2

TOP: Deadweight losses
MSC: Analytical


137.
Refer to Table 12-4. Suppose that the government imposes a $2 tax on delights, causing the price to increase from $5.00 to $7.00. Total consumer surplus will fall from

a.
$4 to $1.

b.
$7 to $4.

c.
$3 to $1.

d.
$7 to $3.

ANS: A
PTS: 1
DIF: 3
REF: 12-2

TOP: Deadweight losses
MSC: Analytical


138.
The deadweight loss associated with a tax on a commodity is generated by

a.
the consumers who still choose to consume the commodity but pay a higher price that reflects the tax.

b.
the consumers who choose to not consume the commodity that is taxed.

c.
all citizens who are able to use services provided by government.

d.
the consumers who are unable to avoid paying the tax.

ANS: B
PTS: 1
DIF: 3
REF: 12-2

TOP: Deadweight losses
MSC: Interpretive

Scenario 12-1

Suppose Jim and Joan receive great satisfaction from their consumption of cheesecake. Joan would be willing to purchase only one slice and would pay up to $6 for it. Jim would be willing to pay $9 for his first slice, $7 for his second slice, and $3 for his third slice. The current market price is $3 per slice.


139.
Refer to Scenario 12-1. How much consumer surplus does Joan receive from consuming her slice of cheesecake?

a.
$3

b.
$6

c.
$9

d.
$12

ANS: A
PTS: 1
DIF: 3
REF: 12-2

TOP: Deadweight losses
MSC: Analytical


140.
Refer to Scenario 12-1. How much total consumer surplus do Joan and Jim collectively receive from consuming cheesecake?

a.
$3

b.
$6

c.
$9

d.
$13

ANS: D
PTS: 1
DIF: 3
REF: 12-2

TOP: Deadweight losses
MSC: Analytical


141.
Refer to Scenario 12-1. Assume that the government places a $4 tax on each slice of cheesecake and that the new equilibrium price is $7. What is Joan’s consumer surplus from cheesecake?

a.
zero

b.
$2

c.
$3

d.
$6

ANS: A
PTS: 1
DIF: 3
REF: 12-2

TOP: Deadweight losses
MSC: Analytical


142.
Refer to Scenario 12-1. Assume that the government places a $4 tax on each slice of cheesecake and that the new equilibrium price is $7. What is the deadweight loss of the tax?

a.
$3

b.
$6

c.
$8

d.
$9

ANS: A
PTS: 1
DIF: 3
REF: 12-2

TOP: Deadweight losses
MSC: Analytical


143.
Refer to Scenario 12-1. Assume that the government places a $4 tax on each slice of cheesecake and that the new equilibrium price is $7. How much tax revenue will be generated from sales to Jim and Joan?

a.
zero

b.
$4

c.
$8

d.
$12

ANS: C
PTS: 1
DIF: 3
REF: 12-2

TOP: Deadweight losses
MSC: Analytical


144.
Refer to Scenario 12-1. Assume that the government places a $2 tax on each slice of cheesecake and that the new equilibrium price is $5. What is the deadweight loss of the tax?

a.
zero

b.
$3

c.
$6

d.
$8

ANS: A
PTS: 1
DIF: 3
REF: 12-2

TOP: Deadweight losses
MSC: Analytical


145.
Refer to Scenario 12-1. Assume that the government places a $4 tax on each slice of cheesecake and that the new equilibrium price is $7. Which of the following statements is correct?

a.
Jim will bear the full burden of the deadweight loss.

b.
Joan will bear the full burden of the deadweight loss.

c.
Both Joan and Jim will share the burden of the deadweight loss.

d.
There will be no deadweight loss.

ANS: B
PTS: 1
DIF: 3
REF: 12-2

TOP: Deadweight losses
MSC: Interpretive


146.
The deadweight loss of an income tax is determined by the

a.
amount of total tax revenue to the government.

b.
marginal tax rate.

c.
average tax rate.

d.
ability-to-pay principle.

ANS: B
PTS: 1
DIF: 2
REF: 12-2

TOP: Deadweight losses | Marginal tax rates
MSC: Interpretive


147.
A person’s marginal tax rate equals

a.
her tax obligation divided by her average tax rate.

b.
the increase in taxes she would pay as a percentage of the rise in her income.

c.
her tax obligation divided by her income.

d.
the increase in taxes if her average tax rate were to rise by 1%.

ANS: B
PTS: 1
DIF: 1
REF: 12-2

TOP: Marginal tax rates
MSC: Definitional


148.
In 1987, the marginal tax rate in Iceland was

a.
0 percent.

b.
3 percent.

c.
50 percent.

d.
100 percent.

ANS: A
PTS: 1
DIF: 1
REF: 12-2

TOP: Marginal tax rates
MSC: Applicative


149.
In the United States, the marginal tax rate on the personal federal income tax

a.
decreases as income increases.

b.
increases as income increases.

c.
is constant at all income levels.

d.
applies only to payroll taxes.

ANS: B
PTS: 1
DIF: 2
REF: 12-2

TOP: Marginal tax rates
MSC: Applicative


150.
Because the marginal tax rate rises as income rises,

a.
higher income families, in general, pay a larger percentage of their income in taxes.

b.
lower income families, in general, pay a larger percentage of their income in taxes.

c.
a disproportionately large share of the tax burden falls upon the poor.

d.
higher income families pay the same percentage of their income in taxes as lower-income families.

ANS: A
PTS: 1
DIF: 2
REF: 12-2

TOP: Marginal tax rates
MSC: Analytical


151.
If your income is $40,000 and your income tax liability is $5,000, your marginal tax rate is 

a.
8 percent.

b.
12.5 percent.

c.
20 percent.

d.
unknown. We do not have enough information to answer this question.

ANS: D
PTS: 1
DIF: 2
REF: 12-2

TOP: Marginal tax rates
MSC: Analytical


152.
Nancy paid a tax of $0.50 on the last dollar she earned in 1999. Nancy’s marginal tax rate in 1999 was

a.
more than 50 percent.

b.
exactly 50 percent.

c.
higher than her average tax rate.

d.
lower than her average tax rate.

ANS: B
PTS: 1
DIF: 2
REF: 12-2

TOP: Marginal tax rates
MSC: Definitional


153.
Because of Iceland’s tax holiday in 1987, 

a.
GDP for that year decreased by 4 percent, and total work hours fell by 8 percent.

b.
GDP for that year decreased by 6 percent, and total work hours fell by 4 percent.

c.
GDP for that year increased by 4 percent, and total work hours increased by 3 percent.

d.
GDP for that year increased by 8 percent, and total work hours increased by 6 percent.

ANS: C
PTS: 1
DIF: 2
REF: 12-2

TOP: Marginal tax rates
MSC: Applicative


154.
Because of Iceland’s tax holiday in 1987 there was a

a.
temporary decrease in total work hours.

b.
permanent decrease in total work hours.

c.
permanent increase in both GDP and total work hours.

d.
temporary increase in both GDP and total work hours.

ANS: D
PTS: 1
DIF: 2
REF: 12-2

TOP: Marginal tax rates
MSC: Applicative


155.
If we want to gauge how much the income tax system distorts incentives, we should use the 

a.
average tax rate.

b.
ability-to-pay principle.

c.
total tax revenue collected.

d.
marginal tax rate.

ANS: D
PTS: 1
DIF: 2
REF: 12-2

TOP: Marginal tax rates
MSC: Interpretive


156.
Suppose the government imposes a tax of 10 percent on the first $40,000 of income and 20 percent on all income above $40,000. What are the tax liability and the marginal tax rate for a person whose income is $50,000?

a.
12 percent and 20 percent, respectively

b.
12 percent and $50,000, respectively

c.
$6,000 and 12 percent, respectively

d.
$6,000 and 20 percent, respectively

ANS: D
PTS: 1
DIF: 3
REF: 12-2

TOP: Marginal tax rates
MSC: Analytical


157.
Suppose the government imposes a tax of 10 percent on the first $40,000 of income and 20 percent on all income above $40,000. What are the tax liability and the marginal tax rate for a person whose income is $30,000?

a.
both are 10 percent

b.
10 percent and $2,000, respectively

c.
$3,000 and 10 percent, respectively

d.
$3,000 and 20 percent, respectively

ANS: C
PTS: 1
DIF: 3
REF: 12-2

TOP: Marginal tax rates
MSC: Analytical


158.
Tim earns income of $60,000 per year and pays $21,000 per year in taxes. Tim paid 20 percent in taxes on the first $30,000 he earned. What was the marginal tax rate on the second $30,000 he earned?

a.
20 percent

b.
30 percent

c.
50 percent

d.
70 percent

ANS: C
PTS: 1
DIF: 3
REF: 12-2

TOP: Marginal tax rates
MSC: Analytical


159.
Sue earns income of $80,000 per year. Her average tax rate is 30 percent. Sue paid 20 percent in taxes on the first $30,000 she earned. What was the marginal tax rate on the rest of her income?

a.
20 percent

b.
24 percent

c.
30 percent

d.
36 percent

ANS: D
PTS: 1
DIF: 3
REF: 12-2

TOP: Marginal tax rates
MSC: Analytical


160.
Sue earns income of $80,000 per year. Her average tax rate is 40 percent. Sue paid $4,500 in taxes on the first $30,000 she earned. What was the marginal tax rate on the rest of her income?

a.
15 percent

b.
32 percent

c.
40 percent

d.
55 percent

ANS: D
PTS: 1
DIF: 3
REF: 12-2

TOP: Marginal tax rates
MSC: Analytical


161.
Sue earns income of $80,000 per year. Her average tax rate is 50 percent. Sue paid $5,000 in taxes on the first $30,000 she earned. What was the marginal tax rate on the first $30,000 she earned, and what was the marginal tax rate on the remaining $50,000?

a.
6.25 percent and 50.00 percent, respectively

b.
10.00 percent and 70.00 percent, respectively

c.
16.67 percent and 60.00 percent, respectively

d.
16.67 percent and 70.00 percent, respectively

ANS: D
PTS: 1
DIF: 3
REF: 12-2

TOP: Marginal tax rates
MSC: Analytical


162.
A person’s tax obligation divided by her income is called her

a.
marginal social tax rate.

b.
marginal private tax rate.

c.
marginal tax rate.

d.
average tax rate.

ANS: D
PTS: 1
DIF: 1
REF: 12-2

TOP: Average tax rates
MSC: Definitional


163.
A person’s average tax rate equals her

a.
tax obligation divided by her marginal tax rate.

b.
increase in taxes if her income were to rise by $1.

c.
tax obligation divided by her income.

d.
increase in taxes if her marginal tax rate were to rise 1%.

ANS: C
PTS: 1
DIF: 1
REF: 12-2

TOP: Average tax rates
MSC: Definitional


164.
Total taxes paid divided by total income is called the

a.
lump-sum tax liability.

b.
marginal tax rate.

c.
average tax rate.

d.
average consumption tax liability.

ANS: C
PTS: 1
DIF: 1
REF: 12-2

TOP: Average tax rates
MSC: Definitional


165.
If your income is $40,000 and your income tax liability is $5,000, your

a.
marginal tax rate is 8 percent.

b.
average tax rate is 8 percent.

c.
marginal tax rate is 12.5 percent.

d.
average tax rate is 12.5 percent.

ANS: D
PTS: 1
DIF: 2
REF: 12-2

TOP: Average tax rates
MSC: Analytical


166.
If we want to gauge the sacrifice made by a taxpayer, we should use the 

a.
average tax rate.

b.
marginal tax rate.

c.
lump-sum tax rate.

d.
sales tax rate.

ANS: A
PTS: 1
DIF: 2
REF: 12-2

TOP: Average tax rates
MSC: Interpretive


167.
The average tax rate measures the

a.
fraction of spending paid in taxes.

b.
fraction of income paid in taxes.

c.
incremental rate of tax on income.

d.
average deadweight loss from all taxes.

ANS: B
PTS: 1
DIF: 2
REF: 12-2

TOP: Average tax rates
MSC: Definitional


168.
Suppose the government imposes a tax of 10 percent on the first $40,000 of income and 20 percent on all income above $40,000. What is the average tax rate when income is $50,000?

a.
20 percent

b.
15 percent

c.
12 percent

d.
10 percent

ANS: C
PTS: 1
DIF: 3
REF: 12-2

TOP: Average tax rates
MSC: Analytical


169.
Larry faces a progressive tax structure that has the following marginal tax rates: 0 percent on the first $10,000, 10 percent on the next $10,000, 15 percent on the next $10,000, 25 percent on the next $10,000, and 50 percent on all additional income. If Larry earns $75,000, what is his average tax rate?

a.
20 percent

b.
25 percent

c.
30 percent

d.
36.67 percent

ANS: C
PTS: 1
DIF: 3
REF: 12-2

TOP: Average tax rates
MSC: Analytical


170.
Marcus faces a progressive federal income tax structure that has the following marginal tax rates: 0 percent on the first $10,000, 10 percent on the next $10,000, 15 percent on the next $10,000, 25 percent on the next $10,000, and 50 percent on all additional income. In addition, he must pay 5 percent of his income in state income tax and 15.3 percent of his labor income in federal payroll taxes. Marcus earns $60,000 per year in salary and another $10,000 per year in non-labor income. What is his average tax rate?

a.
17.19 percent

b.
46.69 percent

c.
48.87 percent

d.
56.01 percent

ANS: B
PTS: 1
DIF: 3
REF: 12-2

TOP: Average tax rates
MSC: Analytical


171.
Which of the following statements is correct?

a.
The average tax rate gauges the sacrifice made by a taxpayer, whereas the marginal tax rate gauges the distortion of taxes on consumer decisions.

b.
The marginal tax rate gauges the sacrifice made by a taxpayer, whereas the average tax rate gauges the distortion of taxes on consumer decisions.

c.
The average tax rate measures how much the tax system discourages people from working.

d.
The marginal tax rate measures total taxes paid divided by total income.

ANS: A
PTS: 1
DIF: 2
REF: 12-2

TOP: Marginal tax rates | Average tax rates
MSC: Analytical


172.
Suppose that the government taxes income as follows: each taxpayer pays $2,000 in taxes, regardless of income. In addition, people who earn over $20,000 pay 40 percent of their total income in taxes. Which of the following statements is not correct?

a.
The $2,000 is a lump-sum tax.

b.
For people earning less than $20,000, the marginal tax rate is zero.

c.
For people earning $50,000, the average tax rate is 40 percent.

d.
For people earning over $50,000, the marginal tax rate is 40 percent.

ANS: C
PTS: 1
DIF: 2
REF: 12-2

TOP: Marginal tax rates | Average tax rates
MSC: Analytical


173.
Becky’s average tax rate on her November income is 15 percent. The marginal tax rate on her December income of $10,000 exceeds her average tax rate. The tax liability on her December income will be 

a.
less than $1,500.

b.
exactly equal $1,500.

c.
greater than $1,500.

d.
From the information provided, any of the answers above could be correct.

ANS: C
PTS: 1
DIF: 2
REF: 12-2

TOP: Average tax rates | Marginal tax rates
MSC: Analytical


174.
Suppose that the government taxes income in the following fashion: 30 percent of the first $20,000, 50 percent of the next $30,000, and 60 percent of all income over $50,000. George earns $40,000, and Elaine earns $60,000. Which of the following statements is correct?

a.
George’s marginal tax rate is 60 percent, and his average tax rate is 50 percent.

b.
George’s marginal tax rate is 50 percent, and his average tax rate is 40 percent.

c.
Elaine’s marginal tax rate is 50 percent, and her average tax rate is 45 percent.

d.
Elaine’s marginal tax rate is 60 percent, and her average tax rate is 40 percent.

ANS: B
PTS: 1
DIF: 3
REF: 12-2

TOP: Marginal tax rates | Average tax rates
MSC: Analytical


175.
Suppose that the government taxes income in the following fashion: 20 percent of the first $50,000, 40 percent of the next $50,000, and 60 percent of all income over $100,000. John earns $200,000, and Theresa earns $600,000. Which of the following statements is correct?

a.
John’s marginal tax rate is higher than Theresa’s marginal tax rate.

b.
John’s average tax rate is higher than his marginal tax rate.

c.
Theresa’s average tax rate is higher than her marginal tax rate.

d.
Theresa’s average tax rate is higher than John’s average tax rate.

ANS: D
PTS: 1
DIF: 3
REF: 12-2

TOP: Marginal tax rates | Average tax rates
MSC: Analytical


176.
Pat calculates that for every extra dollar she earns, she owes the government 33 cents. Her total income now is $35,000, on which she pays taxes of $7,000. Determine her average tax rate and her marginal tax rate.

a.
33% and 20%, respectively

b.
20% and 33%, respectively

c.
20% and 20%, respectively

d.
33% and 33%, respectively

ANS: B
PTS: 1
DIF: 3
REF: 12-2

TOP: Average tax rates | Marginal tax rates
MSC: Analytical


177.
Under a progressive tax system, the marginal tax rate could be equal to the average tax rate only when a taxpayer 

a.
has a very high income.

b.
has a very low income.

c.
is self-employed.

d.
invests in a retirement plan.

ANS: B
PTS: 1
DIF: 3
REF: 12-2

TOP: Marginal tax rates | Average tax rates
MSC: Analytical


178.
Martavius faces a progressive federal income tax structure that has the following marginal tax rates: 0 percent on the first $10,000, 10 percent on the next $10,000, 15 percent on the next $10,000, 25 percent on the next $10,000, and 50 percent on all additional income. In addition, he must pay 5 percent of his income in state income tax and 15.3 percent of his labor income in federal payroll taxes. Marcus earns $70,000 per year in salary and another $20,000 per year in non-labor income. What is his average tax rate, and what is his marginal tax rate on his salary?

a.
His average tax rate is 17.19 percent, and the marginal tax rate on his salary is 55 percent.

b.
His average tax rate is 50.23 percent, and the marginal tax rate on his salary is 70.3 percent.

c.
His average tax rate is 53.63 percent, and the marginal tax rate on his salary is 70.3 percent.

d.
His average tax rate is 55.79 percent, and the marginal tax rate on his salary is 70.3 percent.

ANS: B
PTS: 1
DIF: 3
REF: 12-2

TOP: Average tax rates | Marginal tax rates
MSC: Analytical

Table 12-5

	Income
	Tax rate

	$0 to $40,000
	20%

	Over $40,000
	50%



179.
Refer to Table 12-5. What is the marginal tax rate for a person who makes $35,000?

a.
20%

b.
30%

c.
40%

d.
50%

ANS: A
PTS: 1
DIF: 2
REF: 12-2

TOP: Marginal tax rates
MSC: Analytical


180.
Refer to Table 12-5. What is the marginal tax rate for a person who makes $60,000?

a.
20%

b.
30%

c.
40%

d.
50%

ANS: D
PTS: 1
DIF: 2
REF: 12-2

TOP: Marginal tax rates
MSC: Analytical


181.
Refer to Table 12-5. What is the average tax rate for a person who makes $60,000?

a.
20%

b.
30%

c.
40%

d.
50%

ANS: B
PTS: 1
DIF: 3
REF: 12-2

TOP: Average tax rates
MSC: Analytical

Table 12-6

	Income
	Tax rate

	$0 to $40,000
	25%

	$40,001 to $100,000
	40%

	Over $100,000
	60%



182.
Refer to Table 12-6. What is the marginal tax rate for a person who makes $35,000?

a.
25%

b.
30%

c.
40%

d.
60%

ANS: A
PTS: 1
DIF: 2
REF: 12-2

TOP: Marginal tax rates
MSC: Analytical


183.
Refer to Table 12-6. What is the marginal tax rate for a person who makes $50,000?

a.
25%

b.
28%

c.
40%

d.
60%

ANS: C
PTS: 1
DIF: 2
REF: 12-2

TOP: Marginal tax rates
MSC: Analytical


184.
Refer to Table 12-6. What is the marginal tax rate for a person who makes $130,000?

a.
30%

b.
40%

c.
50%

d.
60%

ANS: D
PTS: 1
DIF: 2
REF: 12-2

TOP: Marginal tax rates
MSC: Analytical


185.
Refer to Table 12-6. What is the average tax rate for a person who makes $130,000?

a.
30%

b.
40%

c.
50%

d.
60%

ANS: B
PTS: 1
DIF: 3
REF: 12-2

TOP: Average tax rates
MSC: Analytical

Table 12-7

	Income
	Tax rate

	$0 to $50,000
	20%

	$50,001 to $100,000
	40%

	Over $100,000
	60%



186.
Refer to Table 12-7. What is the marginal tax rate for a person who makes $37,000?

a.
9.25%

b.
20%

c.
25%

d.
40%

ANS: B
PTS: 1
DIF: 2
REF: 12-2

TOP: Marginal tax rates
MSC: Analytical


187.
Refer to Table 12-7. What is the marginal tax rate for a person who makes $60,000?

a.
20%

b.
23%

c.
40%

d.
45%

ANS: C
PTS: 1
DIF: 2
REF: 12-2

TOP: Marginal tax rates
MSC: Analytical


188.
Refer to Table 12-7. What is the marginal tax rate for a person who makes $120,000?

a.
25%

b.
35%

c.
45%

d.
60%

ANS: D
PTS: 1
DIF: 2
REF: 12-2

TOP: Marginal tax rates
MSC: Analytical


189.
Refer to Table 12-7. What is the average tax rate for a person who makes $120,000?

a.
25%

b.
35%

c.
45%

d.
60%

ANS: B
PTS: 1
DIF: 3
REF: 12-2

TOP: Average tax rates
MSC: Analytical


190.
Why do some policymakers support a consumption tax rather than an earnings tax?

a.
Because the average tax rate would be lower under a consumption tax.

b.
Because a consumption tax would encourage people to save earned income.

c.
Because a consumption tax would raise more revenues than an income tax.

d.
Because the marginal tax rate would be higher under an earnings tax.

ANS: B
PTS: 1
DIF: 2
REF: 12-2

TOP: Consumption tax
MSC: Interpretive


191.
European countries tend to rely on which type of tax more so than the United States does?

a.
an income tax

b.
a lump-sum tax

c.
a value-added tax

d.
a corrective tax

ANS: C
PTS: 1
DIF: 2
REF: 12-2

TOP: Consumption tax
MSC: Applicative


192.
A value-added tax or VAT is a tax on 

a.
retail purchases only.

b.
wholesale purchases only.

c.
pollution.

d.
all stages of production of a good.

ANS: D
PTS: 1
DIF: 2
REF: 12-2

TOP: Consumption tax
MSC: Definitional


193.
Economist Alan Greenspan discussed the advantages of which kind of tax system, “particularly if one were designing a tax system from scratch”?

a.
a progressive tax system

b.
a regressive tax system

c.
a consumption tax

d.
a lump-sum tax

ANS: C
PTS: 1
DIF: 2
REF: 12-2

TOP: Consumption tax
MSC: Applicative


194.
When the government taxes labor earnings we can expect people to

a.
work more so they can keep the same standard of living.

b.
work less and enjoy more leisure.

c.
quit their present job and find one that pays better.

d.
stop working altogether and go on welfare.

ANS: B
PTS: 1
DIF: 2
REF: 12-1 | 12-2

TOP: Income taxes | Deadweight losses
MSC: Interpretive


195.
The U.S. income tax

a.
discourages saving.

b.
encourages saving.

c.
has no effect on saving.

d.
will reduce the administrative burden of taxation.

ANS: A
PTS: 1
DIF: 1
REF: 12-2

TOP: Income taxes
MSC: Applicative


196.
When interest income from savings is taxed,

a.
people will save more to make up for what is lost in taxes.

b.
people will save the same amount as they would have without the tax.

c.
people will save less than they would without the tax.

d.
None of the above is correct since the government would not tax interest on savings.

ANS: C
PTS: 1
DIF: 1
REF: 12-2

TOP: Income taxes
MSC: Applicative


197.
A consumption tax is a tax on only

a.
goods and not services.

b.
the amount of income that people spend.

c.
the amount of income that people earn.

d.
the amount of income that people save.

ANS: B
PTS: 1
DIF: 1
REF: 12-2

TOP: Income taxes
MSC: Applicative


198.
Tax evasion is

a.
facilitated by legal deductions to taxable income.

b.
the same as tax avoidance.

c.
recommended by the American Accounting Association.

d.
illegal.

ANS: D
PTS: 1
DIF: 1
REF: 12-2

TOP: Income taxes
MSC: Applicative


199.
Which of the following describes a situation where tax laws give preferential treatment to specific types of behavior?

a.
tax evasion

b.
a political payoff

c.
a tax loophole

d.
compensation for the benefit of society

ANS: C
PTS: 1
DIF: 1
REF: 12-2

TOP: Income taxes
MSC: Applicative


200.
The U.S. tax code gives preferential treatment to investors in municipal bonds. This is an example of 

a.
a tax loophole.

b.
tax evasion.

c.
an administrative burden.

d.
tax enforcement.

ANS: A
PTS: 1
DIF: 1
REF: 12-2

TOP: Income taxes
MSC: Applicative


201.
High marginal income tax rates

a.
distort incentives to work.

b.
are used to encourage saving behavior.

c.
will invariably lead to lower average tax rates.

d.
are not associated with deadweight losses.

ANS: A
PTS: 1
DIF: 1
REF: 12-2

TOP: Income taxes
MSC: Applicative


202.
Tax systems that impose record keeping requirements on taxpayers are said to have

a.
an auditing burden.

b.
a lower incidence of compliance.

c.
an administrative burden.

d.
a certification requirement.

ANS: C
PTS: 1
DIF: 1
REF: 12-2

TOP: Income taxes
MSC: Definitional


203.
Incentives to work and save are reduced when

a.
income taxes are higher.

b.
consumption taxes replace income taxes.

c.
corrective taxes are implemented.

d.
All of the above are correct.

ANS: A
PTS: 1
DIF: 1
REF: 12-2

TOP: Income taxes
MSC: Applicative


204.
An advantage of a consumption tax over the present tax system is that a consumption tax

a.
raises more revenues.

b.
would save the government millions in administrative costs.

c.
places more of the tax burden on the wealthy.

d.
does not discourage saving.

ANS: D
PTS: 1
DIF: 2
REF: 12-2

TOP: Income taxes
MSC: Interpretive


205.
Which of the following statements is correct?

a.
Both tax avoidance and tax evasion are legal.

b.
Both tax avoidance and tax evasion are illegal.

c.
Tax avoidance is legal, whereas tax evasion is illegal.

d.
Tax avoidance is illegal, whereas tax evasion is legal.

ANS: C
PTS: 1
DIF: 2
REF: 12-2

TOP: Income taxes
MSC: Applicative


206.
In many cases, tax loopholes are designed by Congress to

a.
give special treatment to specific types of behavior.

b.
reduce the overall administrative burden of the tax system.

c.
raise revenues for special projects.

d.
All of the above are correct.

ANS: A
PTS: 1
DIF: 2
REF: 12-2

TOP: Income taxes
MSC: Interpretive


207.
A mortgage interest deduction would be considered

a.
tax evasion.

b.
a subsidy to the poor.

c.
a deduction that benefits all members of society equally.

d.
a tax loophole.

ANS: D
PTS: 1
DIF: 2
REF: 12-2

TOP: Income taxes
MSC: Applicative


208.
As tax laws become more complex,

a.
the administrative burden of taxes will increase.

b.
compliance costs are likely to decrease.

c.
the government will collect more in tax revenue.

d.
the amount of tax revenue lost to tax evasion will decrease.

ANS: A
PTS: 1
DIF: 2
REF: 12-2

TOP: Income taxes
MSC: Applicative


209.
Which of the following is not an administrative burden of our tax system?

a.
government resources used to enforce tax laws

b.
keeping tax records throughout the year

c.
paying the taxes owed

d.
time spent in April filling out forms

ANS: C
PTS: 1
DIF: 2
REF: 12-2

TOP: Income taxes
MSC: Applicative


210.
A tax on all forms of income will

a.
lower the effective rate of interest on savings.

b.
have no effect on savings.

c.
enhance social welfare because the benefits will outweigh the costs.

d.
enhance the incentives to save.

ANS: A
PTS: 1
DIF: 2
REF: 12-2

TOP: Income taxes
MSC: Interpretive


211.
Changing the basis of taxation from income earned to amount spent will

a.
necessarily reduce tax revenues.

b.
lower effective interest rates on savings.

c.
distort incentives to earn income.

d.
eliminate disincentives to save.

ANS: D
PTS: 1
DIF: 2
REF: 12-2

TOP: Income taxes
MSC: Interpretive


212.
If the government imposes a tax of $3,000 on everyone, the tax would be 

a.
an income tax.

b.
a consumption tax.

c.
a lump-sum tax.

d.
a marginal tax.

ANS: C
PTS: 1
DIF: 1
REF: 12-2

TOP: Lump-sum taxes
MSC: Definitional


213.
The most efficient tax possible is a

a.
marginal income tax.

b.
lump-sum tax.

c.
consumption tax.

d.
corporate profit tax.

ANS: B
PTS: 1
DIF: 2
REF: 12-2

TOP: Lump-sum taxes
MSC: Applicative


214.
A lump-sum tax

a.
is most frequently used to tax real property.

b.
does not distort incentives.

c.
distorts incentives more than any other type of tax.

d.
is the most fair tax.

ANS: B
PTS: 1
DIF: 2
REF: 12-2

TOP: Lump-sum taxes
MSC: Applicative


215.
The marginal tax rate for a lump-sum tax

a.
is always positive.

b.
is always negative.

c.
is zero.

d.
can take on any value but must be greater than the average tax rate.

ANS: C
PTS: 1
DIF: 2
REF: 12-2

TOP: Lump-sum taxes
MSC: Interpretive


216.
Which of the following in not a reason that a lump-sum tax imposes a minimal administrative burden on taxpayers?

a.
Everyone can easily compute the amount of tax owed.

b.
There is no benefit to hiring an accountant to do your taxes.

c.
Everyone owes the same amount of tax, regardless of earnings.

d.
The government can easily forecast tax revenues.

ANS: D
PTS: 1
DIF: 2
REF: 12-2

TOP: Lump-sum taxes
MSC: Interpretive


217.
If the government were to impose a tax that assigned everyone the same tax liability, it would be

a.
a lump-sum tax.

b.
an equitable tax.

c.
supported by the poor.

d.
a progressive tax.

ANS: A
PTS: 1
DIF: 2
REF: 12-2

TOP: Lump-sum taxes
MSC: Definitional


218.
One advantage of a lump-sum tax over other taxes is that it

a.
is both equitable and efficient.

b.
doesn’t cause deadweight loss.

c.
would place a larger tax burden on the rich.

d.
would raise more revenues.

ANS: B
PTS: 1
DIF: 2
REF: 12-2

TOP: Lump-sum taxes
MSC: Interpretive


219.
Which of the following is not an advantage of a lump-sum tax in comparison to other types of taxes?

a.
It would not cause deadweight loss.

b.
It imposes a minimal administrative burden on taxpayers.

c.
It is more equitable.

d.
It is more efficient.

ANS: C
PTS: 1
DIF: 2
REF: 12-2

TOP: Lump-sum taxes
MSC: Interpretive


220.
Lump-sum taxes are rarely used in the real world because

a.
while lump-sum taxes have low administrative burdens, they have high deadweight losses.

b.
while lump-sum taxes have low deadweight losses, they have high administrative burdens.

c.
lump-sum taxes are often viewed as unfair because they take the same amount of money from both poor and rich.

d.
lump-sum taxes are very inefficient.

ANS: C
PTS: 1
DIF: 2
REF: 12-2

TOP: Lump-sum taxes
MSC: Interpretive


221.
With a lump-sum tax, the

a.
marginal tax rate is always less than the average tax rate.

b.
average tax rate is always less than the marginal tax rate.

c.
marginal tax rate falls as income rises.

d.
marginal tax rate rises as income rises.

ANS: A
PTS: 1
DIF: 3
REF: 12-2

TOP: Lump-sum taxes
MSC: Analytical

Table 12-8

	Taxpayer
	Income

	Marcia
	$40,000

	Charles
	$30,000



222.
Refer to Table 12-8. If the government imposes a $2,000 lump-sum tax, the average tax rate for Marcia and Charles would be

a.
5 percent and 6.7 percent, respectively.

b.
8 percent and 6 percent, respectively.

c.
12 percent and 9 percent, respectively.

d.
13 percent and 10 percent, respectively.

ANS: A
PTS: 1
DIF: 3
REF: 12-2

TOP: Average tax rates | Lump-sum taxes
MSC: Analytical


223.
Refer to Table 12-8. If the government imposes a $3,000 lump-sum tax, the marginal tax rate for Charles would be

a.
0 percent.

b.
5 percent.

c.
6.7 percent.

d.
10 percent.

ANS: A
PTS: 1
DIF: 2
REF: 12-2

TOP: Marginal tax rates | Lump-sum taxes
MSC: Analytical


1.
The concept that people should pay taxes based on the benefits they receive from government services is called

a.
the ability-to-pay principle.

b.
the benefits principle.

c.
horizontal equity.

d.
vertical equity.

ANS: B
PTS: 1
DIF: 1
REF: 12-3

TOP: Benefits principle
MSC: Definitional


2.
The principle that people should pay taxes based on the benefits they receive from government services is called the

a.
pay principle.

b.
tax-benefit principle.

c.
government services principle.

d.
benefits principle.

ANS: D
PTS: 1
DIF: 1
REF: 12-3

TOP: Benefits principle
MSC: Definitional


3.
The benefits principle is used to justify

a.
property taxes.

b.
gasoline taxes.

c.
“sin” taxes on cigarettes and alcoholic beverages.

d.
personal income taxes.

ANS: B
PTS: 1
DIF: 1
REF: 12-3

TOP: Benefits principle
MSC: Applicative


4.
If revenue from a gasoline tax is used to build and maintain public roads, the gasoline tax may be justified on the basis of

a.
the benefits principle.

b.
the ability-to-pay principle.

c.
vertical equity.

d.
horizontal equity.

ANS: A
PTS: 1
DIF: 1
REF: 12-3

TOP: Benefits principle
MSC: Applicative


5.
The theory that the wealthy should contribute more to police protection than the poor because they have more to protect is based on

a.
the ability-to-pay principle.

b.
a consumption tax plan.

c.
the benefits principle.

d.
property tax assessments.

ANS: C
PTS: 1
DIF: 1
REF: 12-3

TOP: Benefits principle
MSC: Applicative


6.
When a tax is justified on the basis that taxpayers receive specific government services, the tax

a.
is considered horizontally equitable.

b.
burden is minimized.

c.
satisfies the benefits principle.

d.
is considered vertically equitable.

ANS: C
PTS: 1
DIF: 2
REF: 12-3

TOP: Benefits principle
MSC: Definitional


7.
If a poor family has three children in public school and a rich family has two children in private school, the benefits principle would suggest that

a.
the poor family should pay more in taxes to pay for public education than the rich family.

b.
the rich family should pay more in taxes to pay for public education than the poor family.

c.
the benefits of private school exceed those of public school.

d.
public schools should be financed by property taxes.

ANS: A
PTS: 1
DIF: 2
REF: 12-3

TOP: Benefits principle
MSC: Interpretive


8.
The benefits principle of taxation can be used to argue that wealthy citizens should pay higher taxes than poorer ones on the basis that

a.
police services are more frequently used in poor neighborhoods.

b.
the wealthy benefit more from services provided by government than the poor.

c.
the poor are more active in political processes.

d.
the poor receive welfare payments.

ANS: B
PTS: 1
DIF: 2
REF: 12-3

TOP: Benefits principle
MSC: Interpretive


9.
Vertical equity states that taxpayers with a greater ability to pay taxes should

a.
contribute a decreasing proportion of each increment in income to taxes.

b.
contribute a larger amount than those with a lesser ability to pay.

c.
be less subject to administrative burdens of a tax.

d.
be less subject to tax distortions that lead to deadweight losses.

ANS: B
PTS: 1
DIF: 1
REF: 12-3

TOP: Ability-to-pay principle
MSC: Definitional


10.
The argument that each person should pay taxes according to how well the individual can shoulder the burden is called

a.
the ability-to-pay principle.

b.
the equity principle.

c.
the benefits principle.

d.
regressive.

ANS: A
PTS: 1
DIF: 1
REF: 12-3

TOP: Ability-to-pay principle
MSC: Definitional


11.
“A $1,000 tax paid by a poor person may be a larger sacrifice than a $10,000 tax paid by a wealthy person” is an argument based on

a.
the horizontal equity principle.

b.
the benefits principle.

c.
a regressive tax argument.

d.
the ability-to-pay principle.

ANS: D
PTS: 1
DIF: 1
REF: 12-3

TOP: Ability-to-pay principle
MSC: Interpretive


12.
Vertical equity and horizontal equity are associated with

a.
the benefits principle of taxation.

b.
the ability-to-pay principle of taxation.

c.
taxes that have no deadweight losses.

d.
falling marginal tax rates.

ANS: B
PTS: 1
DIF: 2
REF: 12-3

TOP: Ability-to-pay principle
MSC: Applicative


13.
The claim that all citizens should make an “equal sacrifice” to support government programs is usually associated with

a.
the ability-to-pay principle.

b.
the benefits principle.

c.
efficiency arguments.

d.
regressive tax arguments.

ANS: A
PTS: 1
DIF: 2
REF: 12-3

TOP: Ability-to-pay principle
MSC: Applicative


14.
A tax system based on the ability-to-pay principle claims that all citizens should

a.
pay taxes based on the benefits they receive from government services.

b.
pay the same amount in taxes.

c.
pay taxes based on consumption rather than income.

d.
make an equal sacrifice.

ANS: D
PTS: 1
DIF: 2
REF: 12-3

TOP: Ability-to-pay principle
MSC: Applicative


15.
Vertical equity in taxation refers to the idea that people

a.
in unequal conditions should be treated differently.

b.
in equal conditions should pay equal taxes.

c.
should pay taxes based on the benefits they receive from the government.

d.
should pay a proportional tax rather than a progressive tax.

ANS: A
PTS: 1
DIF: 1
REF: 12-3

TOP: Vertical equity
MSC: Definitional


16.
In the 1980s, President Ronald Reagan argued that high tax rates distorted economic incentives to work and save. In the 1990s, President Bill Clinton argued that the rich were not paying their fair share of taxes. Which of the following statements best summarizes the economic theories behind the differing philosophies?

a.
President Reagan was concerned about vertical equity, whereas President Clinton was concerned about horizontal equity.

b.
President Reagan was concerned about average tax rates, whereas President Clinton was concerned about horizontal equity.

c.
President Reagan was concerned about marginal tax rates, whereas President Clinton was concerned about vertical equity.

d.
None of the above is correct.

ANS: C
PTS: 1
DIF: 2
REF: 12-3

TOP: Marginal tax rates | Vertical equity
MSC: Interpretive


17.
Which of the following tax systems could not be structured to satisfy conditions of vertical equity?

a.
a proportional tax

b.
a regressive tax

c.
a progressive tax

d.
a lump-sum tax

ANS: D
PTS: 1
DIF: 3
REF: 12-3

TOP: Vertical equity
MSC: Interpretive


18.
Horizontal equity in taxation refers to the idea that people

a.
in unequal conditions should be treated differently.

b.
in equal conditions should pay equal taxes.

c.
should be taxed according to their ability to pay.

d.
should receive government benefits according to how much they have been taxed.

ANS: B
PTS: 1
DIF: 1
REF: 12-3

TOP: Horizontal equity
MSC: Definitional


19.
The idea that people in equal conditions should pay equal taxes is referred to as

a.
horizontal equity.

b.
vertical equity.

c.
the ability-to-pay principle.

d.
the marriage tax.

ANS: A
PTS: 1
DIF: 1
REF: 12-3

TOP: Horizontal equity
MSC: Definitional


20.
Two families who live in Plains, GA have identical incomes. The Smiths deduct $5,000 from their taxable income for mortgage interest paid during the year. The Jones family lives in an apartment and is not eligible for a mortgage-interest deduction. This situation exemplifies

a.
an application of the benefits principle of taxation.

b.
a violation of horizontal equity.

c.
a violation of vertical equity.

d.
an application of egalitarian tax rules.

ANS: B
PTS: 1
DIF: 2
REF: 12-3

TOP: Horizontal equity
MSC: Applicative


21.
A tax that is higher for men than for women violates the criterion of

a.
horizontal equity.

b.
vertical equity.

c.
the ability-to-pay principle.

d.
the marriage tax.

ANS: A
PTS: 1
DIF: 2
REF: 12-3

TOP: Horizontal equity
MSC: Analytical


22.
One of the most difficult issues associated with trying to structure a tax policy to satisfy horizontal equity is determining

a.
whether or not a taxpayer falls within the highest income quintile.

b.
the level of transfer payments made to low-income groups.

c.
the source of income for taxpayers.

d.
what differences are relevant to a family’s ability to pay.

ANS: D
PTS: 1
DIF: 2
REF: 12-3

TOP: Horizontal equity
MSC: Interpretive


23.
Which of the following statements is not correct?

a.
A gasoline tax can be an example of a benefits tax.

b.
A progressive tax attempts to achieve vertical equity.

c.
A progressive tax can be an example of the ability-to-pay principle.

d.
A regressive tax attempts to achieve horizontal equity.

ANS: D
PTS: 1
DIF: 3
REF: 12-3

TOP: Horizontal equity
MSC: Interpretive


24.
Tax incidence refers to

a.
what product or service the tax is levied on.

b.
who bears the tax burden.

c.
what sector of the economy is most affected by the tax.

d.
the dollar value of the tax revenues.

ANS: B
PTS: 1
DIF: 1
REF: 12-3

TOP: Tax burden

MSC: Definitional


25.
In order to determine tax incidence, one must 

a.
consider issues of equity.

b.
also determine the legal liability of the tax.

c.
evaluate where the tax burden eventually falls.

d.
use the “flypaper theory” of taxation.

ANS: C
PTS: 1
DIF: 2
REF: 12-3

TOP: Tax burden

MSC: Applicative


26.
In order to construct a more complete picture of the economic burden of government across income classes, economists usually

a.
include both tax payments as well as transfer payments received.

b.
focus only on the tax payments of wealthy tax payers.

c.
limit their analysis to taxes based on the ability-to-pay principle.

d.
focus their analysis on issues of tax efficiency.

ANS: A
PTS: 1
DIF: 2
REF: 12-3

TOP: Tax burden
MSC: Interpretive


27.
If transfer payments are included when evaluating tax burdens, then the average tax rate of the poorest quintile of taxpayers would be approximately

a.
negative 30 percent.

b.
negative 10 percent.

c.
positive 1 percent.

d.
positive 8 percent.

ANS: A
PTS: 1
DIF: 2
REF: 12-3

TOP: Tax burden | Transfer payments
MSC: Applicative


28.
Which tax system requires all taxpayers to pay the same percentage of their income in taxes?

a.
a regressive tax

b.
a proportional tax

c.
a progressive tax

d.
a horizontal equity tax

ANS: B
PTS: 1
DIF: 1
REF: 12-3

TOP: Proportional taxes
MSC: Definitional


29.
If a tax takes a constant fraction of income as income rises, it is

a.
regressive.

b.
proportional.

c.
progressive.

d.
based on the ability-to-pay principle.

ANS: B
PTS: 1
DIF: 2
REF: 12-3

TOP: Proportional taxes
MSC: Analytical


30.
An income tax in which the average tax rate is the same for all taxpayers would be considered a

a.
progressive tax.

b.
regressive tax.

c.
distortion-free tax.

d.
proportional tax.

ANS: D
PTS: 1
DIF: 2
REF: 12-3

TOP: Proportional taxes
MSC: Interpretive


31.
Which of the following statements is correct?

a.
Vertical equity is the idea that taxpayers with similar abilities to pay taxes should pay the same amount.

b.
Horizontal equity is the idea that taxes should be levied on a person according to how well that person can shoulder the burden.

c.
A regressive tax would mean that high-income tax payers pay a larger fraction of their income in taxes than would low-income taxpayers.

d.
A proportional tax would mean that high-income and low-income taxpayers pay the same fraction of income in taxes.

ANS: D
PTS: 1
DIF: 3
REF: 12-3

TOP: Proportional taxes
MSC: Interpretive


32.
When the marginal tax rate equals the average tax rate, the tax is

a.
proportional.

b.
progressive.

c.
regressive.

d.
egalitarian.

ANS: A
PTS: 1
DIF: 3
REF: 12-3

TOP: Proportional taxes
MSC: Analytical


33.
Which tax system requires higher-income taxpayers to have lower tax rates, even though they pay a larger amount of tax when compared to lower-income taxpayers?

a.
a proportional tax

b.
a progressive tax

c.
a regressive tax

d.
a lump-sum tax

ANS: C
PTS: 1
DIF: 1
REF: 12-3

TOP: Regressive taxes
MSC: Definitional


34.
If a tax takes a smaller fraction of income as income rises, it is

a.
proportional.

b.
regressive.

c.
progressive.

d.
based on the ability-to-pay principle.

ANS: B
PTS: 1
DIF: 2
REF: 12-3

TOP: Regressive taxes
MSC: Analytical


35.
Which of the following statements is correct?

a.
A general sales tax on food is regressive when low-income taxpayers spend a larger proportion of their income on food than high-income taxpayers.

b.
A general sales tax on food is regressive when middle income taxpayers spend a smaller proportion of their income on food than high-income taxpayers.

c.
A general sales tax on food is regressive when high-income taxpayers spend a larger proportion of their income on food than middle income taxpayers.

d.
A general sales tax on food is regressive when high-income taxpayers spend a larger proportion of their income on food than low-income taxpayers.

ANS: A
PTS: 1
DIF: 2
REF: 12-3

TOP: Regressive taxes
MSC: Analytical


36.
Which tax system requires higher-income taxpayers to pay a higher percentage of their income in taxes?

a.
a progressive tax

b.
a proportional tax

c.
a regressive tax

d.
a lump-sum tax

ANS: A
PTS: 1
DIF: 1
REF: 12-3

TOP: Progressive taxes
MSC: Definitional


37.
You are trying to design a tax system that will simultaneously achieve both of the following goals: 1) two people with the same total income would pay taxes of the same amount, and 2) a high-income person would pay a higher fraction of income in taxes than a low-income person. Which of the following tax systems could achieve both goals?

a.
a lump-sum tax

b.
a regressive tax

c.
a progressive tax

d.
a proportional tax

ANS: C
PTS: 1
DIF: 3
REF: 12-3

TOP: Progressive taxes
MSC: Analytical


38.
You are trying to design a tax system that will simultaneously achieve both of the following goals: 1) a person with no income would pay no taxes, and 2) a high-income person would pay a higher fraction of income in taxes than a low-income person. Which of the following statements is correct?

a.
A lump-sum tax would achieve the second goal but not the first.

b.
A regressive tax would achieve the second goal but not the first.

c.
A progressive tax could achieve both goals.

d.
A proportional tax could achieve the second goal but not the first.

ANS: C
PTS: 1
DIF: 3
REF: 12-3

TOP: Progressive taxes
MSC: Analytical


39.
When the marginal tax rate exceeds the average tax rate, the tax is

a.
proportional.

b.
regressive.

c.
non-egalitarian.

d.
progressive.

ANS: D
PTS: 1
DIF: 3
REF: 12-3

TOP: Progressive taxes
MSC: Analytical


40.
Suppose that the government collected taxes in the following fashion: people who earn less than $50,000 pay 25 percent in taxes, people who earn between $50,000 and $100,000 pay 35 percent in taxes, people who earn between $100,000 and $200,000 pay 30 percent in taxes, and people who earn more than $200,000 pay 28 percent in taxes. Which of the following statements is not correct?

a.
The tax system is proportional for income levels less than $50,000 and regressive for income levels above $50,000.

b.
The tax system is regressive for income levels less than $100,000 and progressive for income levels above $100,000.

c.
The tax system is progressive for income levels less than $100,000 and regressive for income levels above $100,000.

d.
The tax system is progressive for income levels less than $50,000 and proportional for income levels above $100,000.

ANS: C
PTS: 1
DIF: 2
REF: 12-3

TOP: Progressive taxes | Proportional taxes | Regressive taxes
MSC: Analytical

Table 12-9

	
	TAX A
	TAX B
	TAX C
	TAX D

	INCOME
	AMOUNT OF TAX
	AMOUNT OF TAX
	AMOUNT OF TAX
	AMOUNT OF TAX

	$50,000
	$12,500 (25%)
	$15,000 (30%)
	$10,000 (20%)
	$15,000 (30%)

	100,000
	$25,000 (25%)
	$25,000 (25%)
	$25,000 (25%)
	$15,000 (15%)

	200,000
	$50,000 (25%)
	$40,000 (20%)
	$60,000 (30%)
	$15,000 (7.5%)



41.
Refer to Table 12-9. A regressive tax is illustrated by tax

a.
A only.

b.
B or D.

c.
C only.

d.
A or D.

ANS: B
PTS: 1
DIF: 2
REF: 12-3

TOP: Regressive taxes
MSC: Analytical


42.
Refer to Table 12-9. A proportional tax is illustrated by tax

a.
A.

b.
B.

c.
C.

d.
D.

ANS: A
PTS: 1
DIF: 2
REF: 12-3

TOP: Proportional taxes
MSC: Analytical


43.
Refer to Table 12-9. A lump-sum tax is illustrated by tax

a.
A.

b.
B.

c.
C.

d.
D.

ANS: D
PTS: 1
DIF: 2
REF: 12-3

TOP: Lump-sum taxes
MSC: Analytical


44.
Refer to Table 12-9. A progressive tax is illustrated by tax

a.
A.

b.
B.

c.
C.

d.
D.

ANS: C
PTS: 1
DIF: 2
REF: 12-3

TOP: Progressive taxes
MSC: Analytical


45.
The “flypaper theory” of taxation suggests that

a.
the individual or corporation that actually pays the tax is able to shift the burden of the tax to others.

b.
the benefits principle of taxation is not a viable option for policymakers.

c.
taxes are never paid by the most wealthy citizens.

d.
the individual or corporation who actually pays the tax cannot share the burden of the tax.

ANS: D
PTS: 1
DIF: 2
REF: 12-3

TOP: Flypaper theory of tax incidence
MSC: Interpretive


46.
The flypaper theory of tax incidence

a.
ignores the indirect effects of taxes.

b.
assumes that most taxes should be “stuck on “ the rich.

c.
says that once a tax has been imposed, there is little chance of it changing, so in essence people are stuck with it.

d.
suggests that taxes are like flies because they are everywhere and will never go away.

ANS: A
PTS: 1
DIF: 2
REF: 12-3

TOP: Flypaper theory of tax incidence
MSC: Interpretive


47.
John and Rachelle face a progressive tax structure that has the following marginal tax rates: 0 percent on the first $10,000, 10 percent on the next $10,000, 15 percent on the next $10,000, 25 percent on the next $10,000 and 50 percent on all additional income. John earns $50,000 per year, and Rachelle earns $50,000 per year. If John and Rachelle get married, the “marriage tax” will be

a.
$10,000

b.
$15,000

c.
$20,000

d.
$35,000

ANS: B
PTS: 1
DIF: 3
REF: 12-3

TOP: Marriage tax
MSC: Analytical


48.
John and Rachelle face a proportional tax structure with a marginal tax rate of 25 percent. John and Rachelle each earn $60,000 per year. If John and Rachelle get married, the “marriage tax” will be

a.
0

b.
$3,750

c.
$15,000

d.
$30,000

ANS: A
PTS: 1
DIF: 3
REF: 12-3

TOP: Marriage tax
MSC: Analytical


49.
Senator Foghorn promised during his campaign for re-election that he would support family values and end the marriage tax. He also promised to make the rich pay their fair share in taxes, so he would make the income tax more progressive. In addition, he promised that all couples with the same income would pay the same tax and that people with no income would not be taxed. Can Senator Foghorn keep all of his promises?

a.
Yes, as long as he makes sure that the average tax rate remains lower than the marginal tax rate.

b.
Yes, as long as he makes sure that the marginal tax rate remains lower than the average tax rate.

c.
Yes, as long as the highest marginal tax rate on married couples is no higher than the highest marginal tax rate on individuals.

d.
No, the promises cannot all be met at the same time.

ANS: D
PTS: 1
DIF: 3
REF: 12-3

TOP: Marriage tax
MSC: Analytical


50.
Who pays a corporate income tax?

a.
owners of the corporation

b.
customers of the corporation

c.
workers of the corporation

d.
All of the above are correct.

ANS: D
PTS: 1
DIF: 2
REF: 12-3

TOP: Corporate income tax
MSC: Applicative


51.
When the government levies a tax on a corporation,

a.
all the burden of the tax ultimately falls on the corporation’s owners.

b.
the corporation is more like a tax collector than a taxpayer.

c.
output must increase to compensate for reduced profits.

d.
less deadweight loss will occur since corporations are entities and not people who respond to incentives.

ANS: B
PTS: 1
DIF: 2
REF: 12-3

TOP: Corporate income tax
MSC: Applicative


52.
Many economists believe that

a.
the corporate income tax satisfies the goal of horizontal equity.

b.
the corporate income tax does not distort the incentives of customers.

c.
the corporate income tax is more efficient than the personal income tax.

d.
workers and customers bear much of the burden of the corporate income tax.

ANS: D
PTS: 1
DIF: 2
REF: 12-3

TOP: Corporate income tax
MSC: Applicative


53.
Which of the following is not a way that a corporate tax on the income of U.S. car companies will affect markets?

a.
The price of cars will rise.

b.
The wages of auto workers will fall.

c.
Owners of car companies (stockholders) will receive less profit.

d.
Less deadweight loss will occur since corporations are entities and not people who respond to incentives.

ANS: D
PTS: 1
DIF: 2
REF: 12-3

TOP: Corporate income tax
MSC: Applicative


54.
Which of the following countries has adopted a flat tax rate on personal income?

a.
Unites States

b.
England

c.
Estonia

d.
China

ANS: C
PTS: 1
DIF: 1
REF: 12-3

TOP: Flat tax rates
MSC: Applicative


55.
Which of the following statements about a flat tax rate on personal income is correct?

a.
A flat tax raises more revenue that a regressive tax.

b.
A flat tax removes the incentives for tax avoidance through loopholes and other mechanisms.

c.
Estonia and Russia have abandoned the use of a flat tax because they were unable to administer it.

d.
When a flat tax rate is combined with a threshold that exempts some income, the rich will pay less under a flat tax system than they do under the present U.S. system.

ANS: B
PTS: 1
DIF: 3
REF: 12-3

TOP: Flat tax rates
MSC: Interpretive


56.
Goals of efficiency and equity in tax policy are

a.
complementary in most countries.

b.
necessary for application of the ability-to-pay principle.

c.
often in conflict with each other.

d.
easier to achieve when tax codes are complex.

ANS: C
PTS: 1
DIF: 1
REF: 12-3 | 12-4

TOP: Taxes
MSC: Applicative


57.
In choosing the form of a tax, there is often a tradeoff between

a.
allocative and productive efficiency.

b.
profits and revenues.

c.
efficiency and fairness.

d.
fairness and profits.

ANS: C
PTS: 1
DIF: 2
REF: 12-3 | 12-4

TOP: Taxes
MSC: Interpretive


58.
Which of the following tax systems is the most fair?

a.
proportional taxes

b.
regressive taxes

c.
progressive taxes

d.
There is no objective way to assess fairness among the three systems.

ANS: D
PTS: 1
DIF: 2
REF: 12-3 | 12-4

TOP: Taxes
MSC: Interpretive


59.
Economists play an important role is the complex debates over tax policy by

a.
identifying efficiency as the most important goal of tax policy.

b.
identifying equity as the most important goal of tax policy.

c.
shedding light on the tradeoff between efficiency and equity in tax policy.

d.
None of the above is correct.

ANS: C
PTS: 1
DIF: 2
REF: 12-3 | 12-4

TOP: Taxes
MSC: Interpretive

True/False


1.
The average American pays a higher percent of his income in taxes today than he would have in the late 18th century.

ANS: T
PTS: 1
DIF: 1
REF: 12-0

TOP: Tax burden

MSC: Applicative


2.
The U.S. tax burden is high compared to many European countries, but is low compared to many other nations in the world.

ANS: F
PTS: 1
DIF: 1
REF: 12-1

TOP: Tax burden

MSC: Applicative


3.
Poor countries such as India and Pakistan usually have low tax burdens.

ANS: T
PTS: 1
DIF: 1
REF: 12-1

TOP: Tax burden

MSC: Applicative


4.
The U.S. federal government collects about one-half of the taxes in our economy.

ANS: F
PTS: 1
DIF: 1
REF: 12-1

TOP: Tax burden

MSC: Applicative


5.
The most important revenue-generating taxes for the federal government are individual income taxes and payroll taxes for social insurance.

ANS: T
PTS: 1
DIF: 2
REF: 12-1

TOP: Taxes
MSC: Applicative


6.
The most important revenue-generating taxes for state and local governments are income taxes and property taxes.

ANS: F
PTS: 1
DIF: 2
REF: 12-1

TOP: Taxes
MSC: Applicative


7.
Some states do not have a state income tax.

ANS: T
PTS: 1
DIF: 1
REF: 12-1

TOP: Income taxes

MSC: Applicative


8.
Social Security is an income support program, designed primarily to maintain the living standards of the poor.

ANS: F
PTS: 1
DIF: 2
REF: 12-1

TOP: Government spending
MSC: Applicative


9.
A budget surplus occurs when government receipts fall short of government spending.

ANS: F
PTS: 1
DIF: 1
REF: 12-1

TOP: Budget surpluses
MSC: Definitional


10.
A budget surplus occurs when government receipts exceed government spending.

ANS: T
PTS: 1
DIF: 1
REF: 12-1

TOP: Budget surpluses
MSC: Definitional


11.
A budget deficit occurs when government receipts exceed government spending.

ANS: F
PTS: 1
DIF: 1
REF: 12-1

TOP: Budget deficits
MSC: Definitional


12.
A budget deficit occurs when government receipts fall short of government spending.

ANS: T
PTS: 1
DIF: 1
REF: 12-1

TOP: Budget deficits
MSC: Definitional


13.
The administrative burden of any tax system is part of the inefficiency it creates.

ANS: T
PTS: 1
DIF: 1
REF: 12-2

TOP: Taxes
MSC: Interpretive


14.
One characteristic of an efficient tax system is that it minimizes the costs associated with revenue collection.

ANS: T
PTS: 1
DIF: 2
REF: 12-2

TOP: Taxes
MSC: Interpretive


15.
The administrative burden of complying with the tax laws is a cost to the government but not to taxpayers.

ANS: F
PTS: 1
DIF: 2
REF: 12-2

TOP: Taxes
MSC: Interpretive


16.
The equity of a tax system concerns whether the tax burden is distributed equally among the population.

ANS: F
PTS: 1
DIF: 2
REF: 12-2

TOP: Taxes
MSC: Interpretive


17.
An efficient tax system is one that imposes small deadweight losses and small administrative burdens.

ANS: T
PTS: 1
DIF: 2
REF: 12-2

TOP: Taxes
MSC: Interpretive


18.
Deadweight losses arise because a tax causes some individuals to change their behavior.

ANS: T
PTS: 1
DIF: 2
REF: 12-2

TOP: Deadweight losses
MSC: Interpretive


19.
If a tax generates a reduction in surplus that is exactly offset by the tax revenue collected by the government, the tax does not have a deadweight loss.

ANS: T
PTS: 1
DIF: 2
REF: 12-2

TOP: Deadweight losses
MSC: Analytical


20.
Resources devoted to complying with the tax laws are a type of deadweight loss.

ANS: T
PTS: 1
DIF: 2
REF: 12-2

TOP: Deadweight losses
MSC: Applicative


21.
An advantage of a consumption tax is that it does not distort the incentive to save.

ANS: T
PTS: 1
DIF: 2
REF: 12-2

TOP: Consumption taxes
MSC: Interpretive


22.
Tax evasion is legal, but tax avoidance is illegal.

ANS: F
PTS: 1
DIF: 1
REF: 12-2

TOP: Income taxes
MSC: Applicative


23.
Tax evasion is illegal, but tax avoidance is legal.

ANS: T
PTS: 1
DIF: 1
REF: 12-2

TOP: Income taxes
MSC: Applicative


24.
In practice, the U.S. income tax system is filled with special provisions that alter a family’s tax based on its specific circumstances.

ANS: T
PTS: 1
DIF: 1
REF: 12-2

TOP: Income taxes
MSC: Applicative


25.
If Christopher earns $80,000 in taxable income and pays $20,000 in taxes, his average tax rate is 20 percent.

ANS: F
PTS: 1
DIF: 2
REF: 12-2

TOP: Average tax rate
MSC: Analytical


26.
If James earns $80,000 in taxable income and pays $20,000 in taxes, his average tax rate is 25 percent.

ANS: T
PTS: 1
DIF: 2
REF: 12-2

TOP: Average tax rate
MSC: Analytical


27.
If Mary earns $80,000 in taxable income and pays $40,000 in taxes, her marginal tax rate is 50 percent.

ANS: F
PTS: 1
DIF: 2
REF: 12-2

TOP: Marginal tax rate
MSC: Analytical


28.
Many people consider lump-sum taxes to be unfair to low-income taxpayers.

ANS: T
PTS: 1
DIF: 1
REF: 12-2

TOP: Lump-sum taxes
MSC: Interpretive


29.
Lump-sum taxes are equitable but not efficient.

ANS: F
PTS: 1
DIF: 2
REF: 12-2

TOP: Lump-sum taxes
MSC: Interpretive


30.
A lump-sum tax minimizes deadweight loss.

ANS: T
PTS: 1
DIF: 2
REF: 12-2

TOP: Lump-sum taxes
MSC: Interpretive


31.
Antipoverty programs funded by taxes on the wealthy are sometimes advocated on the basis of the benefits principle.

ANS: T
PTS: 1
DIF: 1
REF: 12-3

TOP: Benefits principle
MSC: Applicative


32.
According to the benefits principle, it is fair for people to pay taxes based on the benefits they receive from the government.

ANS: T
PTS: 1
DIF: 1
REF: 12-3

TOP: Benefits principle
MSC: Definitional


33.
According to the benefits principle, it is fair for people to pay taxes based on their ability to shoulder the tax burden.

ANS: F
PTS: 1
DIF: 1
REF: 12-3

TOP: Benefits principle
MSC: Definitional


34.
According to the ability-to-pay principle, it is fair for people to pay taxes based on the amount of government services that they receive.

ANS: F
PTS: 1
DIF: 1
REF: 12-3

TOP: Ability-to-pay principle
MSC: Definitional


35.
According to the ability-to-pay principle, it is fair for people to pay taxes based on their ability to handle the financial burden.

ANS: T
PTS: 1
DIF: 1
REF: 12-3

TOP: Ability-to-pay principle
MSC: Definitional


36.
If all taxpayers pay the same percentage of income in taxes, the tax system is progressive.

ANS: F
PTS: 1
DIF: 1
REF: 12-3

TOP: Progressive taxes
MSC: Definitional


37.
If all taxpayers pay the same percentage of income in taxes, the tax system is proportional.

ANS: T
PTS: 1
DIF: 1
REF: 12-3

TOP: Proportional taxes
MSC: Definitional


38.
If a tax system is designed so that individuals with higher incomes pay more in taxes than individuals with lower incomes, the system achieves vertical equity.

ANS: T
PTS: 1
DIF: 1
REF: 12-3

TOP: Vertical equity
MSC: Definitional


39.
If a tax system is designed so that individuals with similar incomes pay similar taxes, the system achieves vertical equity.

ANS: F
PTS: 1
DIF: 1
REF: 12-3

TOP: Vertical equity
MSC: Definitional


40.
Vertical equity is not consistent with a regressive tax structure.

ANS: F
PTS: 1
DIF: 2
REF: 12-3

TOP: Vertical equity
MSC: Interpretive


41.
If a tax system is designed so that individuals with higher incomes pay more in taxes than individuals with lower incomes, the system achieves horizontal equity.

ANS: F
PTS: 1
DIF: 1
REF: 12-3

TOP: Horizontal equity
MSC: Definitional


42.
If a tax system is designed so that individuals with similar incomes pay similar taxes, the system achieves horizontal equity.

ANS: T
PTS: 1
DIF: 1
REF: 12-3

TOP: Horizontal equity
MSC: Definitional


43.
Most economists believe that a corporate income tax affects the stockholders of a corporation but not its employees or customers.

ANS: F
PTS: 1
DIF: 2
REF: 12-2

TOP: Corporate income tax
MSC: Interpretive

Short Answer


1.
List the three most important expenditure programs of the federal government. How do they differ from the three most important expenditure programs of state and local governments? Explain why it makes more sense for the federal government to purchase “national defense” rather than state governments.

ANS: 

The three most important expenditure programs of the federal government are Social Security, national defense, and income security. The three most important expenditure programs of state and local government are education, public welfare, and highways. It makes sense for the federal government to purchase national defense because national defense is a public good; as such, the federal government can minimize the free-rider problem among states.

PTS: 1
DIF: 2
REF: 12-1

TOP: Government spending
MSC: Interpretive


2.
A recent increase in federal gasoline taxes was estimated to cause a $150 million reduction in the total surplus (consumer plus producer surplus) in the gasoline market. If tax revenues increased by $100 million, what is the deadweight loss associated with the tax? As a result of the tax, 10,000 people sold their cars and started riding their bicycles to work. How much of the burden of the deadweight loss is incurred by the bicycle riders?

ANS: 

The direct deadweight loss is $50 million. It is impossible to determine how much of the loss is borne by bicycle riders without more information. For example, some of the deadweight loss may be attributable to walkers or people who switched to public transportation.

PTS: 1
DIF: 2
REF: 12-2

TOP: Deadweight losses
MSC: Analytical


3.
Use Table A to complete Table B.

	TABLE A
	

	On Taxable Income
	The Tax Rate Is

	Up to $27,050
	15.0%

	From $27,051 to $65,550
	27.5%

	From $65,551 to $136,750
	30.5%

	From $136,751 to $297,350
	35.5%

	Over $297,350
	39.1%


	TABLE B
	

	Taxpayer
	Income
	Tax Amount
	Average Tax Rate

	John
	$52,700
	
	

	Todd
	$132,500
	
	

	Glen
	$237,000
	
	

	Jake
	$315,250
	
	


ANS: 

	Taxpayer
	Income
	Tax Amount
	Average Tax Rate

	John
	$52,700
	$11,111.25
	21%

	Todd
	$132,500
	$35,064.75
	26%

	Glen
	$237,000
	$71,949.75
	30%

	Jake
	$315,250
	$100,372.90
	32%


PTS: 1
DIF: 3
REF: 12-2

TOP: Taxes
MSC: Analytical
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